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401-521-6300
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Only Tap Water Delivers

PProvidence

May 14, 2013

June Swallow, PE

Chief, Drinking Water Quality
R.I. Department of Health
Cannon Building, Room 209
Three Capitol Hill
Providence, R.I. 02908-5097

RE:  pH Transition Implementation Plan
Philip J. Holton Water Purification Plant
April 2013 Monthly Report
PWSID 1592024

Dear Ms. Swallow:

Providence Water is pleased to submit the attached April 2013 Monthly Report. The
format of the Monthly Report continues to follow the outline of RIDOH's December 6,
2012 letter. Providence Water continues to work closely with certain members of the
Expert Panel.

The commencement of the Unidirectional Flushing (UDF) Program is still slated for
mid-May. Under the Water Main Replacement Program, two new contracts recently had
bid openings. The bids were evaluated, and three contractors will be awarded contracts
for the 2013 construction season, extending into 2014,

Should you have any questions, please feel free to contact me at 521-6300, Ext. 7291 or

ggiasson@provwater.com.

Respectfully,
PROVIDENCE WATER SUPPLY BOARD

A

Gregg&iasson, PE
Senior Director of Operations

Attachment: April 2013 Monthly Report

cc: Clay Commons  Peter LePage Steve Soito, PE
Boyce Spinelli Steve Santaniello  Fred Crosby
Joseph Spremulli Rich Razza Mike Covellone

Ricky Caruolo Paul Gadoury, PE  John Phillips, PE



Providence
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pH Transition Implementation Plan
Philip J. Holton Water Purification Plant
Monthly Report
April 2013

This Monthly Report follows the outline of the RIDOH December 6, 2012 letter requesting
monthly updates on all activity related to corrosion control.

1. pH Transition
The initial transition to a higher pH began on Wednesday, February 6, 2013.

The second and final transition to the higher pH of 10.2 began on Monday, March 25, 2013
and the CO, dose was terminated.

During April, the Treatment Plant Effluent and Academy Avenue pH and Alkalinity had the
following values:

Effluent Water Academy Avenue
pH (SU) T. Alkalinity (mg/1) pH (SU) T. Alkalinity (mg/1)

Min. 10.28 15.10 10.13 13.80
Max. 10.51 1750 10.40 16.20
Avg. 1041 16.33 10.27 14.97

See Attachment No. 1 - April pH and Alkalinity Data Tables.
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2.

Special Sampling Studies of Lead Service Line
A. Sequential and LSL Sampling & Testing

The Post-CCTC sampling began on February 11, and continues based on the approved
Protocol.

Sampling data received to date extends through the first week of April, with the next
round of sampling to take place in the first week of May. The data received so far
suggests a very modest decrease in total lead, particularly in the samples of water that had

been stagnant in the lead service line at most locations.

See Attachment No. 2 - Samples from Lead Service Line, for the eight participant
site/address test results, for essentially all metals.

B. PRS Stations' Monitoring (Academy Ave., Brown University, Commercial Building)
The PRS Stations sampling and testing that was resumed at the end of January continues.
C. Virginia Tech (VT) Pipe Loop Rigs (Academy Ave., Water Treatment Plant)
Sampling and testing continues on the VT Rigs that were placed back in service the last
week in February. The intention continues to sample and test once per month.
Special Sampling Studies - Lead attached to Iron Particles
Marc Edwards, with his associate Sheldon Masters (both from Virginia Tech), continue to

study the relationship between elevated iron concentrations and lead release, and will share
any new findings.
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Special Sampling Studies - TCR Sites, LCR Sites, WTP Finished Water
A. Special Total Coliform Rule (TCR) Sites (4)

Four TCR sites were chosen for ease of sampling and their dispersed geographical
locations.  The additional sampling and testing that began at these sites on February 1,
continues once every two weeks.

B. Lead and Copper Rule (LCR) Sites

The additional testing of the LCR sites (100) during the normal 6 month semesters that
began in December 2012, continues. The additional tests being conducted, as requested
by the Expert Panel, are for Dissolved Lead, Total Iron, and Total Zinc.

C. Total Coliform Rule (TCR) Sites (44)
The added Turbidity testing continues.
D. WTP Finished Water Sampling

The addition of Oxygen Reduction Potential (ORP) to the typical daily analyses of the
finished water, continues with weekly field tests and laboratory tests every 8 weeks Post-
CCTC.

Experimental Pipe Loops

The eight, four (4) foot lead service lines (5/8" inch) that were harvested for use in the pipe
loop racks have been cut into sixteen, two (2) foot samples, ready for future insertion into the
pipe loops. They will initially be conditioned by hand using the manual fill and dump
method. This fill and dump method will be employed while the pipe loop racks are being
fabricated, and then the best eight will be inserted into the loops for further conditioning.

A more detailed schematic was developed with all components identified such as rotometers,
throttling and ball valves, sampling ports, etc. and then modified to include the free discharge
of the effluent and a single discharge manifold stack. The frame work of the loop support
system was designed and the PO accounts set up with the suppliers.

As per the Expert Panel's report, further consultation with the Panel is warranted once the
current data is analyzed to determine what future experiments/pilot studies may be warranted.
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April

Effluent Water Academy Ave., Tap
pH T. Alk. pH T. Alk.
Date SU mg/| suU mg/I
4/1/2013 10.47 17.00 10.32 15.20
4/2/2013 10.48 17.00 10.28 15.00
4/3/2013 10.51 17.50 10.34 16.00
4/4/2013 10.38 16.70 10.36 15.50
4/5/2013 10.45 17.00| 10.32 15.70
4/6/2013 10.45 17.20
4/7/2013
4/8/2013 10.50 17.20 10.40 16.20
4/9/2013 10.45 17.10 10.20 15.00
4/10/2013 10.39 16.50
4/11/2013 10.40 16.10 10.28 14.80
4/12/2013 10.31 15.70 10.28 15.00
4/13/2013 10.45 15.80
4/14/2013
4/15/2013 10.43 16.20 10.31 15.10
4/16/2013 10.45 16.80 10.32 15.20
4/17/2013 10.49 17.00 10.28 15.00
4/18/2013 10.50 17.00 10.31 15.50
4/19/2013 10.41 16.10 10.27 15.00
4/20/2013 10.34 15.80|
4/21/2013
4/22/2013 10.36 16.10 10.23 14.70
4/23/2013 10.37 16.10 10.24 14.60
4/24/2013 10.39 15.50 10.20| 14.70
4/25/2013 10.39 15.80 10.22 14.20
4/26/2013 10.34 15.50|f 10.15 14.30
4/27/2013 10.36 15.60||
4/28/2013
4/29/2013 10.28 15.10 10.13 13.80
4/30/2013 10.34 15.20 10.18 13.80
Minimum 10.28 15.10 10.13 13.80
Maximum 10.51 17.50 10.40 16.20
Average 10.41 16.33 10.27 14.97

ATTACHMENT NO. 1



€ "ON LNIWHDV1LY

0TZ0°0 9£00°0 TS00°0 0T00°0 0T00°0 #7900 vZ0 0T00°0 0T000 PUTTUWE B0 8
06T0°0 SL00°0 TS00°0 GT000 9z00°0 €80°0 vZ'0 0T0O00 Zt00°0 wLinrToe L
0s20°0 85000 TS00°0 STO00 ¢e00°0 £90°0 o St00°0 08100 JOUT T ‘90# 9
06200 0S00°0 TS00°0 9T000 10070 TS0°0 TZ0 €T000 06T0°0 LIt sos S
08200 L¥00°0 TS000 6T00°0 9/00°0 TS00 120 61000 0920°0 BPITVO# ¥
0s¢0°0 000°0 TS00°0 9¢000 £600°0 TS00 0z 0 0TO00 00100 J3NT T ‘co# €
S600°0 Zr000 15000 TE00°0 09100 TS00 120 0T00°0 S¥00°0 lLueg/Teor ¢
0009°0 0ST00 9s0°0 081v0°0 00T¥ 0 S90°0 ev0 000 000€'T 1911 Z/T ‘TO# T

oulz  asaueSuep uil Jaddoj ssig Jaddo) uolj ssig uol| pea ssig pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

9L /68T =dway 06'6/19°6=Hd wds 69°T = 2184 MO|4

£0AT0E3 j031ds apisino ‘gT/8T/T :91eQ
2L00'0 0000 TS000 S200°0 02100 TS00 [4A] 01000 0T000 JRUTTUIWE 108 L
0000 €L00°0 TS00°0 12000 8L00°0 1500 €C0 01000 ¢T00°0 J9UT T ‘904 9
TS000 TL000 TS000 €2000 78000 TS00 Zco 0T000 1000 JRUTTS0# S
29000 €L00°0 TS000 12000 0TT00 TS00 €T0 0T00°0 0TO00 WLPUTTV0# V¢
TS00°0 14000 15000 9¢000 01100 TS0°0 [AAL0] 0T000 0T00'0 1917 T ‘E0# €
1000 8€000 TS000 0TT00 0et00 TS00 6T°0 01000 8200°0 LI Z/T 08 T
0tTZ0°0 8¥00°0 TS00°0 00TO0 0¢s0°0 1500 0¢o 0T00°0 ¢s00°0 1817 ¢/T ‘To# T

Julz  asaueduep ull Jaddo) ssig Jaddo) uolj ssig uol| pea ssig peay

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€9'6/€€6=Hd wds 61'T = 931 MO4

8€TTOE3 120ney apisul ‘€T/v/T 91eq

SNV UINQ|OH LS ‘T# 207



¢ 'ON INJINHOVLLY

15000

8900°0 TS00°0 01000 01000 £S0°0 2zo T00°0 1000 eI TuwW e /o8 L
TS00°0 8900°0 TS000 TT00°0 €2000 TS00 rarall] S00°0 6000 oW1 TOo0# 9
TS00°0 09000 1S000 TE000 L2000 1S0°0 T¢0 7000 <100 LI TS0# S
TS00°0 €500°0 TS000 12000 TE00'0 1500 0co 6000 ¥10°0 PRI TO# ¢
TS000 ZS00°0 TS000 9€00°0 8€00°0 1S0°0 120 0200 0c00 PUTT E0# €
TS000 S¥00°0 TS000 97000 00T0°0 TS00 0co 1S0°0 oTT0 IBINTZO# ¢
TS000 S¥00°0 TS00°0 £200°0 0LT0°0 T1S00 120 1000 SE0°0 Lineg/tior 1
Juiz  assue3duey ull Jaddo)ssig Jaddo) uoJ| ssiq uoJ| pesat ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
TLT /69T =dwa 656 = Hd wd3 zg'z = 9184 MO|4
TOHTOE] 1031ds apisino ‘g1/52/1 :91eq
TS00°0 TL00°0 TS00°0 0T000 01000 1S0°0 €co 0T00°0 01000 JRINrTuw e /o £
1S00°0 0000 T1S00°0 01000 ST000 TS0°0 €0 01000 2000 JeI1To0o 9
TS000 15000 TS00°0 LT000 12000 TS00 0 vr00°0 09200 JRINTSO# 9
€400°0 [A70[0N0 TS00°0 Y1000 ¢c000 TS0°0 vZo Tr00°0 0g€e00 BPITTVO# b
T900°0 <000 TS00°0 TE00°0 22000 TS0°0 veo T€E000 08100 PWTT E0# €
95000 8€00°0 TS00°0 72000 00T0°0 TS0°0 veo #2000 0Sst00 BN T208 ¢
0ovvo 7800°0 t800°0 0ST0°0 0oceo 1500 0€E0 €200°0 00920 LIe/TToe 1
Julz  asaueluelp ull s1addo)j ssiqg Jaddo) uoJ| ssig uoJ| peat ssiq peay
wdd wdd wdd wdd wdd wdd wdd wdd wdd
79/ 76T =dwa 68'6 /196 = Hd wds /T = 2184 MmO|4
vS4T0E 3031ds apisino ‘g1 /zz/T :91ed



€ 'ON INJNHOV1LY

¥800°0 ¢T0°0 1S00°0 1000 T000 900 vi°0 T000 9¢00°0 JUT T UlW € ‘E0# €
2100 £S00°0 15000 21000 9€00'0 8£0°0 €0 Z€00'0 1200 PUIT 08 T
SL00°0 €¥00°0 TS000 €000 LTO00 TS00 970 T000 9200 em/rton 1

oulz  asaueduep url Jaddo) ssig Jaddo) uoJj ssiq uoJ| pea ssiq peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€L /ST =dway 646 /196 =Hd wds gg 7 = a1es moj4

€5620¢€7 1031ds apisino ‘gT/€T/T :331eq
9100 €900°0 1S00°0 T00°0 T00°0 1S0°0 0 1000 1000 Jou T ulw € ‘€0# €
T0°0 £S00°0 TS000 TT000 TT00°0 1500 0 T000 €000 JWPUTIT 208 T
6000 S000 TS00°0 1100 Z€0'0 1500 Zz0 T000 600°0 LIZ/TT08 T

oulz  3saueSuep ull Jaddoy ssig Jaddo) uoJ| ssig uoJ| pea7 ssig peai

wdd wdd wdd wdd wdd wdd wdd wdd wdd

18'6/59°6=Hd wds Qg1 = 938 MO|4

96520¢€3 }9oney apisul ‘€T /TT/T :93eqQ
96000 980070 TS000 0T000 01000 orL0°0 000€°0 01000 0T000 RPINTuUwE 08 £
9600°0 0800°0 TS000 01000 0T000 0¥S00 008¢°0 01000 8E000 BI1T90# 9
ovT0'0 89000 TS00°0 9T000 €T00°0 0T80°0 00470 LEOOO 02100 PITTS0# S
021070 95000 15000 0T000 9T00°0 0TSO0 00920 ¥200°0 0LT0°0 WRITT PO ¢
ovT0°0 9%000 15000 TT000 L2000 0gs00 00470 9500°0 0980°0 JIPITTE0H €
0¢T00 T¥00°0 TS000 €€00°0 240070 0Ts00 00920 Zv00°0 ovzoo WP TZoH T
890070 €000 TS000 or10°0 0220°0 0TS00 008Z°0 €100°0 00€0°0 1917 Z/T 104 T

Julz  asaueguely ull J4addojssig Jaddo) uoJ| ssig uol| peal ssig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

70T /S LT =dwsy 08'6/196 =Hd wdS8 9¢'7 = 9184 MO|4

vINTOET 1081ds apisino ‘€T /0€/T :91eQ



C 'ON LNJINHOVLLY

0TTO0 ¥600°0 TS000 01000 0T000 0TSO0 00TE0 0T00°0 0T000 €
02100 60070 TS000 ST000 25000 02400 000¥'0 8T00°0 04100 C
95000 69000 TS000 £900°0 ovTOo0 0TSO0 0010 0T00'0 0STO0 T
Julz  assaueduepy ull Jaddo)ssig Jaddo) uoJ| ssig uod| pea ssig peay
wdd wdd wdd wdd wdd wdd wdd wdd wdd
S8/ LT =dwa 76’6 / €8'6 = Hd wds {g°¢ = 9184 MO|4 TW/IN 9%9 = d1V
CLSE0€ET 190oney apisino (€T/9/¢€ :91eq
0TT00 0£00°0 TS00°0 01000 01000 0850°0 00SZ°0 0T000 01000 €
or10°0 TS00°0 TS00°0 T1€000 SZ00°0 01s00 0o¥Z 0 01000 £LT000 C
0890°0 L¥00°0 TS00°0 0800°0 0020°0 0Ts00 oovzo 01000 0€00°0 T
oulz - asaueduely uil Jaddo) ssig Jaddon uoJ| ssiq uouJ| pea7 ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
6L0€0€3 193ney apisul 'eT/T/€ :91eQ
OvT00 ££00°0 15000 0T000 £1000 0TS00 00020 01000 S00°0 LIl Tuiw g ‘eo €
0sc00 T900°0 15000 Z1000 SE000 0TS00 008T0 0T00°0 18000 PUTTT08 T
0S50°0 €800°0 TS00°0 9500°0 0200 0TS00 00TE'0 TT00°0 0T20'0 pUTZ/TI08 T
oulz  asauesue|y ull Jaddo) ssig Jaddo) uoJ| ssiq uol| peai ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
0Z3¢0¢3 190ney apisul 'eT/1e/T 31
¢600°0 <L00°0 TS00°0 01000 01000 0TS00 00s2°0 010070 0T000 JBUTTUW E ‘€0 €
0210°0 Z900°0 TS000 01000 £200°0 0TSO0 00SZ0 01000 0ZT00 19U T ‘2ot [4
£5S00°0 85000 TS00°0 L2000 05200 0TS00 00sZ°0 01000 S600°0 emz/ror 1
Julz  asauesuepy ul] Jaddo)ssig Jaddo) uodJ| ssiqg uoJ| pea7ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
08/ ¥ST =dwa ¥6'6/ /16 =Hd wdg zz'z = 91e4 MO|4
Tz3zoe3 1031ds apisino ‘£T/0z/Z :91eq



C 'ON LNIWHOV1LVY

0TTO00 0r00°0 0T000 0T000 0TS00 00rT'0 01000 01000
0TT00 ¢€000 0T000 0T000 0TS00 00ET0 01000 26000
15000 92000 £S00°0 ovToo 01S00 00¢1'0 01000 SE000
Julz  asaueduely ull Jaddo) ssig Jaddo) uoJ| ssig uouJ| pea ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
29T0€3 392ney apisul J€T1/2 /v 91k
ov10°0 0L00°0 TS00°0 01000 81000 0TSO0 00T¢C'0 0T00°0 0T000
0ST0°0 6000 TS00'0 01000 91000 01s00 008T 0 0T00'0 €500°0
o¥10'0 6%700°0 1S00°0 0¢10°0 ore0’0 0TSO0 00€C0 01000 25000
Julz  asaueduey ui] Jaddo) ssiqg Jaddop uoJ| ssig uoJj pea ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd

TLSE0¢] }90ney apisul ‘€T /L /€ :o1eQ



€ 'ON LNJWHOV1LY

€600°0 8000 0T000 0T000 0TS00 00810 01000 £€100°0

0¢i0'0 8E000 9T00°0 750070 0TS00 004LT°0 91000 0LE0°0

2.00°0 LEODO 9200°0 0600°0 0TSO0 00ST0 01000 0TT00
uiz  asaueuep uil Jaddo) ssig Jaddoy uolj ssiq uol| pea ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd

00T /el =dwal

LI 0L./J 001 = fd wds /T'Z = 91e4 MO|4 TPST = d1v

8SL10€ET }92ne} 3pIsIno €1 /6/v @1eQ



€ 'ON LNJWHOV 11V

SS000 €000 TS00°0 Y1000 91000 TS00 00T'0 01000 08000 4917 T UIW € ‘60# 6
75000 €000 TS00°0 TT000 €T00°0 TS0°0 L60°0 6£00°0 0820°0 I3 T ‘80# 8
TS00'0 TE000 TS000 TT000 STO00 1S00 9600 Tv00°0 0£20°0 BN T LO# L
09000 8€00°0 TS00°0 8T00°0 £€00°0 1500 00T0 61000 09200 42U T '90# 9
29000 9€00°0 TS000 LEOOD0 €L00°0 1500 OTT0 €€00°0 02200 197 T 'SO# S
0LTO0 ¢E00'0 TS00°0 €000 7£00°0 1500 0ttT0o 0T000 97000 JOUT T “YO# 1
0¢eo0 9€000 TS000 ZE00°0 9000 TS00 0€ET0 01000 TS00°0 49171 T ‘C0o# €
ovzo'0 0€00°0 TS000 ¥€00°0 €600°0 TS00 0cto 01000 8%00°0 1811 z/1 ‘To# [4
0Lv0°0 Z€000 TS000 6S00°0 09T0°0 TS00 ovr10 0T000 9¢00°0 1311 2/1 ‘104 T

ouiz asaue3uep uij 1addo) ssiq Jaddo)p uoJj ssia uodJj peaissig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

¥5'6/9t'6 = Hd wd3 QT°7 = 2181 MO|4

069T0E3 ‘192ney apisu| ‘€T0Z/6/T @1ep ajdwes

29000 ¢e000 TS00°0 T¥#00°0 0ETO'0 TS0'0 €60°0 0T100°0 €€00°0 4317 T ulw € ‘g0 8
TS00°0 <000 TS00°0 0T000 01000 TS0°0 0110 €C00°0 0LT0°0 91 T ‘L0# [
TS00°0 8100°0 TS00°0 01000 01000 1S0°0 0ST0 €600°0 08S0°0 1917 T '90# 9
TS00°0 8100°0 TS00°0 01000 11000 1S0°0 09T°0 85000 05s0°0 49U T ‘SO# S
TS00°0 9%00°0 TS00°0 01000 12000 1500 091°0 8600°0 0€S00 JBUT T ‘vO# 1%
€900°0 000 TS00°0 TE000 €000 TS0°0 0ST0 0sS00°0 0LE0°0 IBU T ‘EO# €
08T0°0 6€00°0 1S00°0 S700°0 OTTI00 1S0°0 0ST'0 01000 £900°0 1811 Z/T ‘To# [4
06S0°0 8E00°0 TS00°0 0T100 0EY00 1S0°0 0010 91000 S600°0 1211 7/T ‘TO# T

quiz asauedue uiy Jaddo) ssig Jeddo) uoJ| ssiq uoJ| pea ssiq pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€6'6 /6 = Hd wd3 €9'T = 91ed mo|4

TE9TOET 3081ds apisinO ‘€£10z/8/T 21ep ajdwes

SNUIAY Ylid) 92 ¢# 201



€ 'ON LNJINHOVLLY

TS00°0 92000 TS00°0 01000 01000 1S0°0 860°0 01000 ¢T000 LU T UIW € /0# L
TS00°0 €2000 TS00'0 01000 01000 TS0°0 S60°0 ST00'0 89000 1917 T ‘90# 9
TS00°0 0000 TS00°0 01000 01000 1500 1600 0,000 00200 4917 T ‘SOo# S
TS00°0 0000 TS00°0 ST000 12000 1S0°0 0600 02000 08100 497 T ‘vO# 14
0ce00 1200°0 TS00°0 TT000 TS00°0 1500 860°0 0S00°0 0/LT00 J2UT T ‘E0# €
0Tr0'0 0c¢000 TS00°0 ¥S00°0 0T120°0 TS0°0 2600 Zg€000 0ct00 18w z/1 ‘zo# 4
0980°0 €200°0 TS00'0 81¥00°0 08¢0°0 1500 0¢to 0T00°0 638000 1211 Z/T ‘TO# T

oulz Isaueduely ury Jaddoj ssiq Jaddo) uodJ| ssiq uolJ| peat ssia peai

wdd wdd wdd wdd wdd wdd wdd wdd wdd

18'6/0L6=Hd wds 9¢'T = a1el MO|4

6Z9T0€3 11081ds api1sINO ‘€T0Z/€Z/T 33ep 3|dwes

1S000  8Z00'0 1000 01000 01000 1500 0010 01000 €T00°0 1917 T UlW € ‘8O# 8
1S000  9Z00°0 1S000  0T000 01000 1S0°0 00T°0 TT000 S900°0 LPINT Lo# L
1S000  0Z000 1S000  0T000 11000 1500 S80°0 99000 0/£0°0 1217 T ‘90# 9
0SZ0'0 02000 1S000  0T000 £€100°0 1S0°0 ¥80°0 1600°0 00v0'0 1911 T ‘so# S
IS000  0Z000 1S000  TIOOO 11000 1S0°0 5800 8900°0 08€0°0 191N T ‘vo#t v
15000 02000 1S000  0£000 SS00°0 1S0°0 5800 99000 0ZE0'0 191N T ‘so# €
00Z00  ZZ00'0 TS00'0  800'0 0€10°0 1500 7600 01000 89000 BT Z/T ‘20# z
0600  SZ000 I1S000  O0€TI0°0 0L£0°0 1S0°0 1900 610070 8/00°0 LU Z/T TOH T

ul7 osaueSue url Jladdo) ssig 1addo) uolJ| ssig uoJ| pea ssiq pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

696 / 09°6 = Hd wdg £G'T = 911 MO|4

€00T0€3 ‘1031ds apisInO ‘£T0Z/9T/T a1ep 3|dwes



€ 'ON INJHOVLLY

S800°0 ¢co00 TS00°0 T000 T00°0 TS00 680°0 1000 T00°0 J91T T uIW € ‘08 1%
98000 2000 TS00°0 ¢100°0 T00°0 1500 68070 T00°0 T00°0 191 T UlW € ‘E0# €
16000 €200°0 TS00°0 T00°0 T00°0 1S0°0 980°0 €500°0 T€00 21T T ‘20# 4
€500 €500°0 TS00°0 SL00°0 <00 1S0°0 6T°0 2000 €900 1811 Z/T TO# T
Juiz asaueduely urL Jaddo) ssig Jaddo) uoJ| ssiq uoJ| pea ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
LLf et =dwsy 99'6 /956 = Hd wd3 g/ 'T = 14 mol4
25620€3 ‘1081ds apIsInO ‘€10¢/€T/T d1ep Bjdwes
15000 €€00°0 1S00°0 T000 T00°0 1S0°0 10 TO00 1000 J9T T UlW € ‘pos# 1%
6000 T€00°0 TS00°0 T00°0 T00°0 8500 IT0 1000 T00°0 JOUT T UIW € ‘E0# €
TIT0°0 <000 TS00°0 T000 1000 1S0°0 00 8500°0 L20'0 J9¥1 T ‘Z0# 4
£L20°0 S¢000 1S00°0 91700°0 £600°0 1S0°0 IT0 T00°0 S00°0 1811 Z/T TO# T
uiz 3saueduey uly Jaddo) ssig 1addo) uoJ| ssiq uo.| peai ssiq peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
956 /816 =Hd wds //°T = 314 MO|4
8v8¢0€3 No31ds apisu; ‘gT0Z/ZT/C 21ep 9|dwes
66000 €€00°0 TS00°0 0T000 0T000 0TSO0 00TT0 01000 Z100°0 JBY T UIW € /08 L
0CT00 €€00°0 TS00°0 ZT00°0 01000 01500 00TT0 82000 86000 1817 T ‘90# 9
OTTO0 0C000 TS00°0 81000 01000 01s00 0600 00100 09t0°0 1811 1 ‘s0# S
ovT00 02000 TS00°0 LT000 91000 01s00 05600 00100 0St0°0 1911 T w04 14
08T0°0 02000 TS00°0 Y1000 #1000 0TS0'0 0¥60°0 0TT0'0 0e0°0 49T T ‘E0# €
0STO0 020070 15000 6€00°0 2L00°0 01s00 04600 0TT0'0 0ge00 19U T ‘20# [4
0S£0°0 02000 TS00°0 ¥£00°0 09100 0TSO0 00TT0 01000 06000 191171 2/1 ‘TO# T
aulz asaueduelp ulp Jaddo) ssig Jaddon uoJ| ssiq uoJj peassig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€.°6/99'6=Hd wds gG'T = 91e4 MO
S9NTOET ‘1081ds apisinO ‘€102/0€/T 21ep ajdwes



€ 'ON LNJWHOVLLY

6600°0 LEOO0O 150070 1000 1000 1S0°0 ST'0 1000 TT000

1%
S600°0 6€00°0 TS00°0 T00°0 1000 TS0°0 A0 T00°0 £T00°0 €
6600°0 LEO00 TS000 1000 1000 TS0°0 ¥T'o T000 71000 [4
TS00°0 9€000 TS000 T000 T00°0 1500 vT0 T00°0 81000 T
qulz asaueduep uly 1addo) ssig Jaddo) uoJj ssig uoJ| pea7ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd

LOHZO0€3 “1031ds apisu| {€T0Z/92/z 21ep a|dwes

0Z100 T¥00°0 TS00°0 01000 0T000 0TSO0 00910 01000 ¥T100°0 JUT T UlW € YO# ¥
0TTO00 €r00°0 TS00°0 01000 0T000 0TSO0 009T°0 0T000 22000 JBUT T UlW € ‘€0 €
02100 0000 TS00°0 0T000 0T000 0TSO0 00ST0 LT000 0€T00 1B T ‘Zo# [
T1S000 6£00°0 TS00°0 0T00°0 TT00°0 0TSO0 00STO 0T000 0TT00 1911 2/1 ‘TO# T
Julz  asaueduely urp Jaddo) ssiq Jaddo) uolj ssig uoJ| peaissig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd

0vaz0€3 ‘10d1ds apisul ‘€T0Z/0Z/T 21ep a|dwes

£300°0 6€00°0 TS00°0 0T000 01000 01s0°0 00€ET0 01000 01000 4937 T UlW € YO# v
01100 000°0 TS00°0 01000 01000 01500 00vT°0 01000 01000 49T T UlW € ‘E0# €
ovTo'0 ¢e000 TS00°0 01000 ¢T00°0 0TSO0 0860°0 0T000 0£20°0 121 T ‘20# [4
0ZT0'0 02000 TS00°0 T900°0 orT0°0 01s0°0 0Z60°0 01000 0c¢t00 1917 Z/T ‘TO# T
quI7 asauesuelp ull Jdaddo) ssiqg Jaddo) uoJ| ssiq uou| peai ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
'8/ 70T =dway ¢0'0T/€6'6 =Hd wds 0gZ = 3184 MO|4

LT320€3 N081ds apIsIin0 ‘£102/12/C @3ep @|dwes



€ "ON INJWHOVYLLY

0S20°0 02000 TS00°0 01000 0T0070 0TSO0 0T/00 0T00°0 Z100°0 ¥
66000 02000 TS00°0 01000 0T000 0TSO0 0€400 01000 11000 €
0TTO0 02000 TS00°0 01000 TT00°0 0TSO0 04500 60070 042070 P4
00100 02000 TS00°0 6900°0 0Z10°0 0TSO0 0T90°0 9T00°0 9/00°0 T
uIzZ asaueduepy uil 1addo) ssig Jaddo) uoJ| ssiqg uoJ) peat ssiq pe9al
wdd wdd wdd wdd wdd wdd wdd wdd wdd
S'0T/9°€T =dway 98'6/££'6=Hd wdS3 07 = 314 MO|4 TW/AN L2 = dLV
vLSE0ET 11081ds 9pISINO ‘€T0Z/9/€ 21ep 3|dwes
00TO'0 ¥E€00°0 TS00'0  O0T000 0T000 0TS00 00ET°0 0T000 11000 %
8600°0 vE€00°0 TS000 0T000 0T000 01s00 00€T°0 01000 Z1000 €
06000 ZE000 TS00°0 0T000 0T00'0 01s00 00ZT 0 0T000 ¥T00°0 [
15000 0c000 TS00°0 TT00°0 €T00°0 01500 0900 ¥900°0 09zZ0°0 T
U7 asaueduelp uly laddo) ssig laddo) uolJj ssiq uodj pesq ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
v62€0€T ‘1031ds apisu| (€102/S/¢€ a1ep a|dwes
88000 22000 TS000 01000 01000 01s00 0880°0 01000 0T000 1%
02100 €200°0 1S00°0 01000 01000 0TS0°0 0880°0 01000 01000 €
£600°0 0¢000 TS00°0 0T000 TT000 01s00 09/00 Zv00°0 0620°0 [4
26000 0c00°0 TS000 69000 09100 01Ss00 06L0°0 0to00 61000 T
uiz asaueduen uil Jaddo) ssig Jaddon uouJ| ssig uoJ| peai ssiqg pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
96 /'€l =dwa 96'6/8.6=Hd wd8¢ge'T =a1e1 MO|4 JW/3IN $0T = d1V

6S120€3 1031ds apisino (£T0T/L7/T @3ep ajdwes



C "ON INJINHOVLLY

0TT100 0200°0

01000 01000 0T1s00 0vS00 0T000 91000
09100 0c00°0 0r00°0 £S00°0 01s0°0 0£S00 2600°0 0ZZ0'0
0rzo'o £200°0 T900°0 0ST0°0 01s0°0 06070 01000 0€T00
oulz asauesueln uly Jaddo) ssig Jaddo) uoJ| ssig uoJ| pea ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
TLT/ €8T =dwsy $8'6/9.6=Hd wd3 g0z =2aies mol4 |W/3N 89Z€ = d1V
rZvioel Jo31ds apisino ‘€10¢/6/ d1ep 3|dwes
IT0°0 €200°0 1000 T00°0 TS00 680°0 T0O00 ¥1000
TT0°0 ¢000 1000 T00°0 TS00 9800 TO0'0 STO00
TS00°0 000 1000 T00°0 TS00 8800 T00'0 2€00°0
U7 asaueduep url laddo) ssig Jaddo) uol| ssig uoJ| pea ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd

091v0€3 ‘1031ds apisu| ‘€T10z/¢/ 21ep 3|dwes



€ 'ON LNIWHOVL1LY

0€200 6v00°0 TS00°0 01000 010070 TS00 orT0 01000 SZ000 HNssy 4ol T ulw € ‘go# 8
06T00 8¥00°0 15000 0T000 <1000 1500 0ST0 01000 0000 linsay 1917 T “20# L
0€C00 Zrooo TS000 ¢T000 LT000 1500 0ST0 SZ000 0zzoo linsay 1917 T ‘90# 9
05200 02000 TS00°0 91000 8T000 1S00 TS00 0TZ00 00S0°0 linsay 1917 T ‘SO# S
02z00 02000 TS00°0 Z€00°0 000 1S0°0 €50°0 0€20°0 02S0°0 linsay 4911 T ‘vO# 14
08¢00 02000 15000 orv1I0°0 0SZ0°0 1500 1500 66000 01200 lnsay 1817 T ‘€04 €
000T°0 0co00 TS000 89000 0Z10'0 TS00 2S00 02000 0CT00 1nsay 1911 2/T ‘To# [4
00TT0 02000 TS000 08000 0ZT0°0 TS00 TS0°0 ¥S00°0 09700 1nsay 1911 Z/T ‘TO# T

dulz  asaueduey url 1addo) ssig laddo) uoJj ssig uoJ| peat ssig pea]l  Js1sweleq

wdd wdd wdd wdd wdd wdd wdd wdd wdd syun

996 / 05°6 = Hd wds3 €0°z = 3181 mo|4

908T10¢€3 1031ds apisino ‘gT/TT/T :91eQ
0TZ00 02000 TS00°0 0T000 01000 1500 €500 01000 €200°0 nssy  Jey T ulw € ‘go# 8
0ZZ00 0co00 15000 0T000 ¢1000 TS0°0 8500 0T00°0 6%7000 1nsay 1B T “L0# L
0ceo0 9€000 TS000 ¢1000 8T000 TS0°0 06T°0 ¢S000 0/L¥0°0 }nsay 1911 T ‘90# 9
0¢e0o0 000 TS000 Y1000 6T00°0 1S00 01Z0 00100 0£480°0 1nsay 18U T ‘so# S
0€20°0 Zv00°0 TS00°0 £2000 #9000 1S0°0 01Z'0 00100 0S80°0 lnsay 4917 T ‘VO# 14
08200 Zr00°0 TS000 0210°0 09€0°0 1500 00¢0 000 oveo'o lnsay 1917 T ‘co# €
0002°0 8500°0 1S00°0 TL00°0 00100 1500 0zco ¥T00°0 0€C0o0 linsay 1911 2/T “z0o# 4
00ET'0 0c000 1S000 09000 09100 1500 1500 0S00°0 OvT00 }nsay 19211 Z/T ‘TO# T

Julz  ssaueSuey url 1addo) ssig Jaddo) uoJ| ssiqg uoJ| peai ssiq pea1 Jsisweley

wdd wdd wdd wdd wdd wdd wdd wdd wdd suun

€9'6 /056 = Hd wd3 0z = 3181 mo|4

0LLT0€3 1031ds apisino ‘€T/0T/T :91eQ

OAY JISWILIOT Z€ ‘€4 207



€ "ON LNJNHOVLLY

TS00°0 02000 TS000 0T00'0 01000 1500 7900 01000 ZZ00°0 Unssy 93 T UlW ¢ L0# L
£900°0 02000 TS000 TT000 1000 1500 S900 01000 SE00°0 ynsay 1917 T 90# 9
66000 02000 TS00°0 91000 LT000 1500 ¢L0°0 L2000 02100 linsay 4917 T SO# S
ovT00 02000 TS000 8T000 €200°0 1500 TS00 06100 06€0°0 1nsay 1917 T vO# 1
0¥T00 02000 TS00°0 L¥00°0 87000 1500 TS00 0220’0 0St0°0 }nsay 1917 T cO# €
00200 02000 TS000 0STO0°0 00200 TS0°0 1S00 0ZT00 0€C00 }nsay 1917 T CO# C
0095°0 01000 TS000 08000 0t2o’0 1500 0€ET’0 ¥£00°0 06200 lnsay 1211 2/T 10# T

Julz  asaueSuey ury Jaddoj ssig Jaddo) uoJ| ssig uoJ| peal ssig pea1 Jelsweled

wdd wdd wdd wdd wdd wdd wdd wdd wdd suun

9.6 /t¥L'6=Hd wd3 99°7 = aies moj4

SS4T0€3 1031ds apisino ‘€1 /zz/T :91eQ
0LT0°0 0z000 T1S00°0 L1000 02000 1500 TS00 ST000 92000 INsay 48U T ulw € ‘GO# 8
09100 ¥2000 15000 81000 €200°0 1500 ¥S0°0 000 Ov100 linsay 1B T ‘L0# L
09100 0¢000 TS00°0 8T00°0 82000 1500 .00 08TO0 0¥90°0 Hnsay 1911 T 90# 9
08100 12000 TS000 92000 000 1500 ¢80°0 ovzo'o 00£0°0 }nssy 1917 T ‘S04 S
01200 02000 TS000 S600°0 06100 1S0°0 9/00 0€T00 0L€0°0 Hnsay 1917 T ‘vO# 14
0€€00 22000 TS000 0ST0°0 00€00 1500 ¥80°0 ¥S00°0 08100 ynsay JRU T ‘E0# €
0600 920070 15000 Or10°0 0Ze0’0 15070 880°0 <1000 04100 Hnsay 19171 7/1 “To# C
06¢0°0 9200°'0 15000 0rco'o 0st70°0 1500 ¥£0°0 92000 0CT00 linsay 1911 Z/T To# T

Julz  asaue3duey ury Jaddo) ssig Jaddo) uoJ| ssig uoJ| peai ssig pea1  J9laweled

wdd wdd wdd wdd wdd wdd wdd wdd wdd Sun

T€6/L1'6=Hd wd3 g/°T = 9384 MO|4

90Vv10£3 390ney apisul (€T /¥T/T :91eq



Z 'ON LNJNHOVLLY

0TTO00 0c¢00'0 TS00°0 01000 0T000 0TSO0 0TSO0 0T00'0 8T00°0 1917 T UlW € ‘E0# €
09100 0Z00°0 TS00°0 L1000 0¢00°0 0TSO0 0TSO0 0STO00 08¢0°0 1211 T ‘20# C
000t'T 6¢00°0 15000 6t700°0 0STO0°0 0TSO0 009T°0 €v00°0 0ove00 121 /T ‘TO# T

Julz  asaueduely uly Jaddo) ssiqg Jaddo) uoJj ssiq uoJ| pea7 ssig peal Jaj2weled

wdd wdd wdd wdd wdd wdd wdd wdd wdd suun

201 /S €T =dwa 696 /9%'6 = Hd wds $0°z = 9184 MO|4

6EVC0E yo3ids apisino €T /yT /2 :91eq
¢600°0 <000 1S00°0 €T000 1000 1S0°0 €90°0 T00°0 €¢00°0 J21 T ulw € ‘g0 €
100 000 1S00°0 12000 62000 1S0°0 1800 910’0 00 1217 1T ‘zo# Z
6T0°0 2000 TS00°0 9100 T€00 TS0°0 TS00 T¥00°0 9100 1811 /1 ‘T0# T

Julz  asaueduely ury Jaddo) ssig Jaddop uoJj ssiqg uoJ| peaissig peajl  Jo19weled

wdd wdd wdd wdd wdd wdd wdd wdd wdd suun

€v'6/7E6=Hd wds z/'T = 21e1 MO|4

S6920€3 120ney apisul '€T/TT/T :93eQ
TS00°0 02000 TS000 STO0'0 ZT100°0 1500 290°0 #1000 12000 ynsay SN T UlW € /0# Vi
TS00°0 0000 15000 ¢T00°0 91000 TS0°0 0900 02000 Z€00°0 lnsay 1217 T 90# 9
1S00°0 0000 TS00°0 ¥100°0 91000 1500 0L0°0 STO0'0 S800°0 }nsay 1917 T SO# S
TS00°0 02000 TS00°0 81000 12000 1S00 €500 052070 0Se00 1nsay 1917 T #O# ¥
TS00°0 02000 19000 0c00°0 62000 1500 TSO00 06£0°0 005S0°0 }nsay 1917 T €0# €
0600'0 02000 1S00°0 02100 0LT00 TS00 1sS00 00¢0°0 0LEOO }nsay 1911 T CO# 4
0TL0°0 0¢000 TS00°0 0STO00 0TE00 TIS00 9500 82000 0STO0 1nsay 4211 /T TO# T

Julz  asaueduep uig Jaddo) ssig Jaddo) uoJj ssig uoJj peaT ssig pea] Jalaweleq

wdd wdd wdd wdd wdd wdd wdd wdd wdd s1un

96 = Hd wd3 17°z = 9211 MO|4

889T0€3 1081ds apisino ‘€T/pz/T :91eq



€ 'ON INJWHOVLLY

¢600°0 02000 TS00°0 01000 TT000 0TSO0 0TSO0 01000 61000 €
0¥T00 02000 TS00°0 8T000 52000 0TSO0 0TSO0 0L10°0 0L£0°0 T
09T0°0 0c000 TS00°0 0810°0 08Z0°0 0TSO0 0TSO0 %000 96000 T
Jul7z  3saueduey uil Jaddo) ssig Jaddo) uou| ssig uod| pea7 ssig peal  J9laweled
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
SLOE0ET 190ney apisul ‘€T/8Z/¢ :91eq
07100 02000 TS00°0 01000 0T00°0 0TSO0 0TS0'0 01000 LT000 €
0STO00 02000 15000 8T00°0 6T00°0 0TSO0 0TS0'0 0810°0 09t0°0 C
000€°0 0Z000 TS000 €S00°0 £600°0 0TSO0 095070 89000 0ETO0 T
Julz  asaueSuel url Jaddo) ssig Jaddo) uoJ| ssig uoJ| pea ssig peal Jsiloweleyd
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
S'0T /6'ST =dwal 16'6 /.86 =Hd wd3 68'Z = 9184 MO|4
90HZ0E3 1031ds apisino ‘g1 /sz/z :91eqQ
0ST00 02000 15000 ¢T100°0 01000 0TSO0 02900 01000 8T000 4911 T Ulw € ‘e0# €
01200 02000 TS00°0 22000 52000 0TSO0 0TS00 98000 00€0°0 J9)1 T ‘20# [4
0089°0 2000 TS000 0TTO0 09T10°0 01s0°0 0980°0 22000 000 4217 2/1 'T0# T
Julz asaueluely ulp Jaddo) ssig Jaddo) uoJj ssig uou| pea ssiq peal  Jslaweleq
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
€TT/5€z=dwa LL'6/696=Hd wd3 78’z = 2184 MO|4
29420¢€3 1031ds apisino ‘£1/2z/z :a1eq
€600°0 0To00 TS000 01000 ¢1000 0TS00 01s00 0T00'0 0C000 A3 T UlW ¢ ‘€0# €
0ZT00 02000 TS00°0 ¢c000 T€E000 0TS00 0890°0 0ZZ00 00S0°0 42U T ‘T0# T
04100 02000 TS000 ovr10°0 0€20°0 0TS00 08500 94000 0Tc00 1217 2/T 'T0# T
Jui7z  Isaueluelp uil Jaddo) ssig laddo) uoJ| ssi uoJ| pea ssiq pea] J919weled
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
600¢0€3 19oney apisul ‘€T /8T /T :91eq



C 'ON LNINHOV 1LY

01100 02000

0T00°0 01000 0TSO0 0TSO0 ¢1000 S¢000
orZ0°0 02000 ¥100°0 81000 0TSO0 01S0°0 0s¢00 0Zv0°0
0008°T OTTIO0 ¥S00°0 0820°0 0TSO0 00s8°0 €L00°0 01600
Julz  asaueduey urp Jaddo) ssig Jaddo) uoJ| ssig uoJj pea7ssiq pea] J9jaweleq
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
TTT/6¢T =dwa) 6T'6 /816 = Hd wds 'z = 9184 MO|4 TW/IIN Z8LT = d1V
OvEP0E] 190ney 3pISINO €T/ /P :91eQ
08200 008T°0 0S00°0 680070 01100 00TZ0 0000°LT 01000 0Z100
0TE€0°0 S200°0 15000 Z1000 910070 01500 00210 0T00°0 €900°0
08100 07000 TS00°0 0910°0 ovZoo 0TSO0 0TSO0 S00°0 00TO00
duiz 9saueduelp urg Jaddo) ssig Jaddop uouJ| ssig uoJ| pesat ssig pea1 Jalaweled
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
T9€0€3 103ids apisul ‘€T/L/¢€ :31eQ
0€T00 02000 15000 0T00'0 01000 0TSO0 0SS0°0 0T00°0 LT00°0
0€C00 0co00 15000 91000 0¢00°0 01s0°0 0TSO0 08T0°0 0LE0°0
00TT'0 02000 TS000 0¥TO00 0€200 01500 0rsSo0 2c000 €600°0
Juiz osaueduey ur] laddo) ssiq Jaddo) uoJ| ssiq uoJ| peaissiqg pea] Jslsweleqd
wdd wdd wdd wdd wdd wdd wdd wdd wdd suun
1'6/8Cr =dwan ¥6'6 / 286 = Hd wds z1°¢ = a3ea moy4 TW/3IIN 285 = d1v
S62E0€3 1081ds apisino (g1 /p/€ :91eQ



€ 'ON INJWHOVLLY

TS00°0

¢00°0 TS00°0 1000 0T00°0 IS00 1500 0T00°0 ZT100°0 JRUT T UIW € OTH# 6
09100 2000 TS000 0T000 0T000 TS0°0 TS0°0 01000 €T00°0 13U T ‘60# 8
02200 2000 TS00°0 01000 0T000 TS0°0 TS00 01000 71000 J2N T ‘804 L
0LT00 7000 TS00°0 <1000 01000 TS0°0 TS00 01000 91000 U T L0# 9
0LT00 2000 TS000 0T000 0T000 TS0°0 TS00 01000 ST000 1911 T '90# S
0T€0°0 000 TS000 010070 TT000 TS00 1500 01000 61000 49U T ‘SO# 1
0LT00 2000 TS000 91000 LTO00 TS0°0 TS00 01000 ¥E00°0 J3Y1 T ‘yOo# €
06100 ¢000 TS00°0 ¥200°0 8200°0 TS0°0 TS0'0 91000 6€00°0 J9UT T ‘C0# C
08000 ¢000 TS000 TE000 €v700°0 TS00 TS00 8£00°0 0STO0°0 4217 2/T ‘To# T

U7 asaueguey uil Jaddoj ssig Jaddon uoJj ssig uod|  peassiq peoq

wdd wdd wdd wdd wdd wdd wdd wdd wdd

16'6/¥8'6 =Hd wd3 0g'T = 9384 MO|4

9/0T0€3 1081ds apisino ‘€T/LT/T @1eq
0STO0 2000 TS000 01000 01000 TS0°0 TS00 01000 ZT000 LI Tuw g OT# 0T
0cco0 000 1S00°0 01000 010070 1S0°0 TS00 0T00'0 €T00°0 1911 T ‘60# 6
08100 000 TS00°0 ZT00°0 Z100°0 T1S00 1500 0T000 €T00°0 4211 T ‘30# 8
08100 ¢000 TS00°0 12000 12000 1S00 1500 0T000 61000 BN T L0# L
00200 ¢000 TS00°0 02000 ¥200°0 TS0°0 1500 0T000 TC000 4911 T ‘904 9
00€0'0 ¢000 TS00°0 81000 #2000 TS00 1500 ¢T00°0 7000 JBUT T ‘SO# S
06100 000 TS00°0 ¥E00°0 Z£S00°0 1500 0ET0 ¢T000 1800°0 J9UT T vO# 1
0t20°0 2000 TS000 65000 ov1I0'0 1500 0Zt'0 0T000 SS00°0 BT T ‘co# €
TS000 2000 TS000 83000 0ZT00 TS00 1500 S200°0 0800°0 191171 /1 “zo# 4
0¢co00 000 TS000 0STO0 02200 TS00 TS00 6T00°0 £L00°0 1817 Z/T “TO# T

ouiz asauesuep ulp Jaddo)ssiqg Jaddo) uoJ| ssig uod|  pea7ssig peaq :go|dwes

wdd wdd wdd wdd wdd wdd wdd wdd wdd

656 /056 =Hd wds g1 = 214 MO[4

rarAvAOToE | 19dney} apisul ‘€T /ST /T :91eQ

9AY UBIIUID 99 ‘bt 207



€ "ON LNJWHDVLLY

TS000 2000 TS000 0T000 0T000 1500 TS00 01000 Z100°0 Jau T ulw € ‘604 6
15000 000 TS000 Z100°0 0T000 TS00 TS00 01000 ¥100°0 4N T ‘80# 8
TS00°0 2000 1S00°0 €2000 22000 TS00 TS00 0T00'0 71000 U T “LO# L
TS00°0 ¢000 TS000 €T00°0 €100°0 1500 TS00 010070 Y1000 JaN1 T ‘90# 9
TS000 ¢000 1S000 8T00°0 91000 TS00 1S00 01000 97000 1211 T ‘So# S
1S00°0 000 TS00°0 €T00°0 91000 1S00 1S00 01000 7000 1817 T vO# 14
TS00°0 2000 TS00°0 91000 Zc000 IS0°0 TS0°0 8€00°0 08T0°0 9T T ‘CO# €
0€EE0°0 000 TS00°0 2900°0 02100 TS0°0 TS00 0€00°0 0T10°0 1BU1 T ‘To# [4
00€0°0 ¢000 15000 08000 00200 1S0°0 TS00 61000 ¥800°0 1217 2/1 ‘T0# T

oulz asaueduey ul] J4addo) ssig Jaddo) uoJ| ssiq uod]  peaqssiqg peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

6,.°6/99°6=Hd wd3 7g'T = 21e1 MOj4

ZOHTOE3 1031ds apisino !€T/5¢/T :93eQ
TS000 2000 15000 01000 01000 1500 1500 OTo00 1000 1917 T ulw g ‘60# 6
TS000 ¢00'0 TS000 010070 0T000 1500 TS00 0TO0'0 £100°0 19U T ‘804 8
TS000 000 TS000 11000 01000 1500 1500 07000 ¥T00°0 1917 T ‘L0# L
TS000 000 TS00°0 0T000 ¢T00°0 1500 1500 01000 ¥T000 4211 T ‘90# 9
15000 c000 TS00°0 01000 €T00°0 T1S00 TS0°0 01000 9T000 4911 T ‘SO# <
15000 000 TS00°0 TT000 Y1000 TS0°0 TS00 0T000 9€00°0 J9U1 T ‘vO# 12
1S000 <000 TS00°0 £€100°0 81000 TS00 TS0'0 0€000 0TIT00 1211 T ‘Co# €
T600°0 2000 TS00°0 €000 <S00°0 Ts0°0 TS00 €E00°0 9800°0 J9MN T ‘20# i
15000 2000 TS00°0 t<S00°0 06000 TS0°0 TS0°0 9500°0 0L10°0 21 Z/T ‘ToH T

ulz asaueduepy ul] Jaddo) ssiq Jaddo) uolJj ssiqg uol|  peassig peaq

wdd wdd wdd wdd wdd wdd wdd wdd wdd

S/.6/196=Hd wd3 g¢ T = 2184 MOJ4

8¢OT0ET 1081ds apisino ‘€T/€2/1 91eQ



€ 'ON LNJWHOVL11V

26000 ¢00°0 TS000 1000 T000 1500 TS0°0 TO00 TO00 49T T UIW € ‘E0# €
96000 2000 TS000 1000 T000 1500 TS00 T0O00 €1000 xx OUTT 204 C
TS00°0 000 TS000 S200°0 St00°0 TS0°0 <S0°0 TO00 1100 1217 /1 'To# T
uIz asaueduey ui] saddo) ssig Jaddo) uoJ| ssiqg uoJd]  pealssig pesal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
¢L'6/1L6=Hd wd3 06°T = 2184 MO|4
¥6920¢€3 1031ds apisul ‘€1 /zT/T 910@
£800°0 2000 TS00°0 1000 1000 TSO0 TS0°0 T000 1000 J2)] T UlW € ‘E0# €
88000 2000 TS00°0 ¢1000 ¢100°0 1500 TS0°0 TO00 €T00°0 % 49U T 'TOH# [4
15000 <000 TS000 ¥€00°0 SS00°0 TS00 TS00 T000 T00°0 1817 Z/1 ‘T0# T
U7 9saueduen ull Jaddo) ssig laddo) uoJj ssiq uoJ|  peaqssig pes
wdd wdd wdd wdd wdd wdd wdd wdd wdd
8C/ve=dwa 8.6 /v.6=Hd wd3 zg'T = 2184 MO|4
v6S¢0€d 390Nk} apisino €T /TT/C :91ed
TS00°0 2000 TS000 <1000 01000 1500 TS00 0T000 ¢1000 491 T UlW € ‘60# 6
TS000 2000 TS000 0T000 0T000 TS00 TS00 0T000 €T00°0 J9UT T ‘S0# 8
TS00°0 000 15000 0T000 ¢100°0 1500 1500 01000 Y1000 19U T L0# L
TS00°0 000 15000 91000 61000 TS0°0 TS00 ¢T000 ST00°0 4911 T ‘904 9
15000 2000 TS000 ¥100°0 91000 TS00 1S00 01000 LT000 497 T ‘SO# S
TS000 2000 TS00°0 ST000 ¢e000 TS00 1500 02000 £9000 4211 T “vO# 14
TS000 000 TS000 52000 0€0070 1S00 TS00 0910°0 00€0°0 J9UT T ‘CO# €
06T0°0 2000 15000 o100 04LT0'0 TS00 1500 001070 08100 J9WT T ‘T0# C
TS00°0 ¢00°0 TS000 0020°0 0Ss20°0 TS00 9S00 LL00°0 0€20'0 1211 Z/T ‘To# T
U7 asaue3uelp ull J1addoj ssig Jaddo) uoJ| ssig uoJd]  peaissig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
¢L'6/256=Hd wd3 £G°T = 9381 MO|4

8EHTOE3 j081ds apisino g1 /8¢ /1 :91e@



€ 'ON INJWHOVLLY

SZ00°0 000 TS00°0 T0O00 TOO0 TS00 1500 T000 T000
€600°0 000 15000 €T00°0 ¥T000 TS00 1S0°0 €000 £00°0
TS000 ¢000 TS000 6900°0 T0°0 1500 TS00 TE000 1100
oulz asauedueln ul] iaddo) ssig Jaddo) uoJj ssig uoJ|  peaissiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
80HZO0E3 190ney apisul (€1 /9Z/Z :91eQ
€600°0 0c000 15000 0T000 01000 01500 01s00 0T00'0 0T00'0
¥600°0 0Z000 TS00°0 0zZ00'0 Y1000 0TSO0 0Ts00 Y1000 00100
15000 02000 TS000 6800°0 86000 0Ts00 0Ts00 6€00°0 00T0°0
uiz asaue3duen ull Jsddojssig Jaddo) uoJ| ssig uoJ|  peassig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
6'8/6€r=dwa L6'6 /786 =Hd wdd 1Z°T = 2181 MO|4
2T920¢3 1031ds apisino ‘g1/52/¢ 91eq
16000 02000 TS000 01000 0T000 0TS00 0TS00 0T000 01000
9600°0 02000 TS000 0T000 01000 0TSO0 0TSO0 01000 81000
95000 0Z000 15000 2200°0 St00°0 01500 01s00 02000 01100
uz7 asaue3uey uil uaddo) ssig Jaddo) uoJ| ssig uoJ|  peaissig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
L9/70T=dwa 786 /S/'6=Hd wd3 880 = 9381 MO|4
£L0D20€3 1031ds apisino ‘€T /6T/z :93eQ
£€800°0 0co00 TS00°0 0T000 0T00'0 0Tso0 0Ts00 0T000 0T000
9800°0 0¢000 TS00°0 0T000 01000 0TSO0 0TS00 0T000 ¢T000
15000 02000 15000 000 T900°0 0TS00 0Ts00 Z€¢00°0 00100
Juiz asaueduepy ull Jaddo) ssiq laddo) uoJj ssiq uoJ|  peaqssiqg peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd

[AA 41X 193ney spisul '€ /8T/T :91e@

1917 T UlW € ‘€o#
% 49U T ‘20#
1931 Z/1 “To#

41T T UlW € ‘E0f
=x 19W1 T ‘20#
1917 Z/T “T0#

€

1

€
[4
1



€ 'ON IN3INHOVLLY

OIT00 02000 01000 01000 0Ts00 0TSO0 0TO00 €T00°0
OrTO'0 0¢o0’0 L0070 8600°0 0TSs00 0TS00 8000 64000
TS00°0 02000 TL000 €600°0 0TS00 0TSO0 2S00°0 0TTO00
Jul7 asauesuelpy ull Jueddoj ssig Jaddo) uoJj ssig uoJd]  pesissig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
Er90€3 19oney apisul ‘eT/8/y :91eq
08100 0C000 0T000 01000 0TS0°0 0TSO0 01000 €100°0
0CT00 02000 0T00'0 01000 0TSO0 0TSO0 92000 6S00°0
0ST00 02000 €E00°0 vv00°'0 0Ts00 0TS00 01000 L2000
ul7 asaueduelp uil Jaddo) ssig Jaddo) uod| ssiq uol]  peaqssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
9L/ L6=dway 08'6/21°0T = Hd wd3 ge°1 = a1es moj4 TW/IIN SPT = dLY
6STP0E] 190Ney4 apisino ‘g1 /z/p 91eq
16000 0zo00 15000 0T000 01000 0TS00 0Ts00 0T000 01000
0Z10°0 02000 1S00°0 6T00°0 81000 0TSO0 0TSO0 Z€000 £€600°0
TS000 0Z00°0 TS00°0 00T0°0 0STO0'0 0Ts00 0TSO0 LEOD'O 96000
uiz asaueduelp ull Jaddoj ssi( Jaddo) uoJj ssig uol]  pea7ssiq peaj
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€6¢€E0¢] 192ney apisul ‘€T /g /€ :v1eQ
68000 02000 TS00°0 0T000 01000 0TSO0 0Ts00 0T000 0T000
0ZT0°0 0T00°0 TS00°0 ¥T00'0 9T00°0 0TSO0 0TS00 0900’0 0ZT0°0
0900°0 02000 TS000 €600°0 02100 0TS0°0 01s00 0S00°0 08000
oulz asaueduep uil Jaddo) ssig Jaddo) uoJj ssig uol]  pealssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
'8/ T0T=dwan 666 /06'6 = Hd wd3 gT°'T = 9384 MO|4 TW/IN 952 = d1v

G8TE0ET 1031ds apisino (€T /p/< :91eQ



€ "ON LNIWHIOVLLY

Z900°'0 2000 15000 6T000 TE00'0 TS0 TS00 0T000 LTO00 BN Tuw e ‘90# 9
TS00°0 Tv00°0 TS000 ¢100°0 1000 TS0°0 TS0°0 01000 L7000 J2MN T ‘So# S
8500'0 02000 TS00°0 91000 T¢000 TS00 1500 06T0°0 0€EE00 43T T “vO# 14
0€£0°0 02000 TS000 66000 o100 TS00 TS00 8800°0 0STO0 19N T "E0# €
15000 02000 15000 ovzo0 09v70'0 TSO0 TS0°0 LT000 £900°0 L1 Z/T o ¢
0STO0'0 0Z00°0 TS00°0 00€0°0 00010 1S0°0 TS0°0 19000 0STO0 1317 /T ‘TO# T
oulz asaueduey ull  Jaddojpssig  saddoj uoJ| ssiq uouj peai ssig pean
wdd wdd wdd wdd wdd wdd wdd wdd wdd
LS6/vv'6=Hd wd3 gz'z = 9184 Mmo|4
689T0€3 1031ds apisino ‘g1 /6/T :93eQ
T1S00°0 02000 IS00°0  E€v000 65000 TSO'0 1500 0T00'0 6T00°0 WPUTTUWE ‘908 9
1S00°0 02000 1S00°0  6T000 T¢00°'0 TS00 TS00 €600°0 0ST0'0 LI TS0# S
06100 27000 TS000  9t00°0 65000 1S00 TS00 0STO'0 0zzo'o LITTVOR v
0£20°0 £Z0O0 TS00°'0 08zZ00 09%0'0 T1S00 TS00 €2000 8€000 LI T'co# €
£500°0 tE00°0 1S00°'0 0620°0 0690°0 T1S00 1500 6€00°0 €8000 LI T/T 208 ¢
08T0°0 9£00°0 TS00°0 0EE0°0 0L¥0°0 1500 1500 S900°0 OTT00 1911 Z/T “TO# T
U7 asaue3duely ulL  Jaaddopssig  saddoy ol ssig uoJ| peat ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
6.6/99'6 =Hd = 91eJ Mo|4
0€910¢3 1031ds apisino ‘£T/g/1 :a1eQ

199.1S SSaW|IeH ¢¥ ‘S # 207



C 'ON LNJINHOVLLY

0cT0'0 07000 TS00°0 ¥100°0 0T000 01s00 0TSO0 0T000 0T00°0 JOUT T UlW € ‘So# S
OTTO'0 0T00'0 15000 £200°0 €000 0Ts00 0TSO0 0T000 £500°0 1817 T vO# 14
09T0°0 0T000 TS00°0 8¢00°0 €E000 0TS00 01S00 0910°0 00€0°0 1917 T ‘E0# €
08£0°0 07000 1S00°'0  002Z0°0 09v0°0 0TSO0 O0TISO0 6S00°0 0CT00 PUITZOf T
¢600°0 02000 TS00°0 00€0°0 0760°0 0TSO0 0¢s00 €¢000 0STO0 1BUT T/T TO# T
oulz asauesuey ull  Jaddopssig  Jaddo)y uod) ssig uoJ| pea ssiqg peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
19'6 /67’6 =Hd wdsg g6°2 = a1e1 moj4
S6IT0E] 1031ds apisino ‘€T/0€/T :91eQ
1S00°'0 TE€00°0 TS000 01000 01000 T1S00 8500 0T000 01000 JRUTTUIW E ‘SO §
TS000 T€00°0 TS000 <1000 02000 1S0°0 7900 01000 11000 1817 T ‘vO# 14
1S00°0 <Z£00°0 TS000 S200°0 L2000 1500 S90°0 01000 €T000 JOMT T ‘EO# €
TS00'0 0£000 1S00°'0 #2000 9v00'0 TSO0 ¥60°0 L0070 0¢¢0°0 LI T 08 €
0T60°0 €Z000 TS000 0TI00 0€Z0°0 1S0°0 0ZT'0 00TO0 09€0°0 1917 2/T ‘108 T
uiz asaueduey up  Jeddopssig  Jaddo) uoy) ssig uoJ| peat ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€9'6/.€6=Hd wd3 T¢°¢ = 9184 MO|4
r69T0ET 1031ds apisino ‘€T/52/T ?1eQ
TS00°'0 62000 TS00°0 01000 0T000 TSO0 90°0 01000 01000 LM TuwE /o8 £
TS00°0 9200°0 15000 STO00 81000 T1SO0 SS0°0 820070 9600°0 JBMIT90# 9
09T0'0 02000 15000 82000 ¥E000 TS00 TS00 0LT0°0 08200 LI1T'so# g
08%¥0°0 02000 1S00°'0 00100 0ST0'0 1S0°0 TS0°0 92000 ¥800°0 1PINTYO# ¥
09100 02000 1S00°'0 09100 0020°'0 T1S00 1500 L1000 62000 JPUTT'EO# €
0950°0 07000 15000 #6000 0€ET00 T1S00 1500 ¢100°0 92000 BINTT08# ¢
0rS0°0 07000 15000 16000 6600'0 1S00 1500 01000 8¢00°0 Lmz/I'tos 1
uiz asaueduelp ull  Jaddojssig  Jaddoy uoy) ssi uold| pea7 ssiq pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
0¥'6 /€6 =Hd wd3 6670 = @184 MO|4

LZOT0E£3 }9oney apisul ‘€T /€2 /T :91eQ



€ 'ON LNJWHOVYLLY

£600°'0 0€00°0 TS00°0 0T00 0 0T00°0 0TS00 0TSO0 01000 0T000 €

OrT0'0 0Z000 1S00°'0  0Z000 0€000 0TSO0 0TSO0 O0ETI00 orZo’0 [4

€900°0 02000 1S000 09200 0€80°0 0TSO0 0TSO0 OTO0O 9€000 T
ouIZ asaueduey ull  Jaddopssig  4eddo) uod) ssig uoJ| peal ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€0T /99T =dway L86/.96=Hd wd3 70°¢ = 2184 MOJ4 TW/IN 56 = dLV
L2120€3 1031ds apisino ‘gT//2/z :91eq

Z600°0 02000 15000 TTO00O 0T00'0 0IS0O0 0T1s00 01000 01000 JRITTUWE ‘eof €

06S0°0 9t00°0 TS00'0  8€000 6900°'0 0TSO0 O0IS00 OFrTIOD o200 PUTTT0# T

8800°0 02000 15000 02Zs0'0 00€T'0 0TSO0 0TSO0 0£00°0 00100 lLg/rton 1
oulz asaueduep ull  Jeddopyssig  Jaddoy uou;ssig uodj peaissig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
T'0T/¥'ST =dway 98'6 /656 =Hd wd3 90°¢ = a1e1 moy4
€94¢0¢€3 1031ds apisino ‘g1 /zz/T :91eq

1600°0 2000 15000 TOO0 T000 1500 TS0°0 T000 1000 LI TUWE ‘eo €

Ir0'0 20070 1S00'0 65000 €600'0 TSO0 TS00 ¥10°0 ¥20'0 LI T 708 T

100 Z00°0 TS00°0 8g€0°0 SL0 1500 1S0°0 TZ00°0 9100 Lu/TToH T
qulz asaueduepn uil  saddopssig Jeddody  uoy ssiq uoJ| peat ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
ST/ 0'8T=dwsl 0.6/956=Hd wd3 15°z = 914 MO|4
20vZ0E3 1031ds apisino ‘€T/ST /¢ :91eQ

TI00 2000 1S00°0 ¢T000 ¢00°0 1S00 1500 T00°0 T00°0 JOUT T Ulw € ‘Eo# €

9v0'0 2000 15000 +00°0 ¢/000  TIS00 1500 £L800°0 200 PINT 208 T

SS0°0 2000 1S00°0 2L00°0 TT0°0 1500 TS00 1000 12000 LI/t ro8 1
uiz asaue3ue ull  Jaddojssig  uaddo)y uod) ssig uoy| peatssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
8v'6/6V'6=Hd wds 00’1 = 2184 MO|4

St8c0o€3 1odids apisul ‘€T /€T /T 91eQ



€ 'ON INJNHOVLLY

1600°0 02000 TT00°0 ¥T00'0 0TSO0 0TSO0  0T000 11000

0€EE0'0 0T000 0ZT0°0 05¢0°0 0TSO0 0TSO0 08100 0£Z0°0

00200 02000 008€°0 0006 OTSO0 0TS0 0 L0070 00e00
ouiz asauedue ull  Jaddopssig  1addoy  uod)ssiq uoJ| pea ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
T/ QET = dwan 9T1'0T / Z0'0T = Hd wd3 16°Z = 2384 MO|4 TW/IN ¥06T = dLV
(4741 /0 L2E 1031ds apisino {£T/8/v :91eQ

00TO'0 02000 1S000 0T000 01000 0TSO0 0TSO0 O0T000 0T00°0

0870°0 0Z000 TS00°0 Q€000 T¥00'0 0TSO0 0TSO0  0ZI0'0 08TO'0

0T190°0 07000 TS000 950070 €£00°0 0TSO0 O0OISO0 Q1000 9T00°0
quiz asaueduelp uil  Jaddopssig  Jaddo)y uou) ssiqg uou| peai ssiq peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
6€9€0€3 1031ds apisul (€T/8/€ :918Q

00T0'0 02000 1S00'0 0T00°0 01000 0TSO0 0ISO0 0T000 01000

09T0°0 0¢00°0 1S00'0  St00°0 85000 0TSO0 O0ISO0 OvrIOO 01200

OTTO0 0¢o00 IS000 ovzo'o 0960°0 0TSO0 08900 €£T100°0 04100
ulZ asauedue|p ull Jaddopssig  uaddoy  uou ssig uoJ| peal ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
60T / €97 = dway L86/2L6=Hd wd3 /¢ = 9384 MO|4 TW/3IN SPE = dLY
6S7€0€3 y03ids apisino ‘gT/9/¢ :a3eQ

66000 020070 15000  01S0°0 1100’0  €200'0 0TSO0 0T000 01000

01S0'0 02000 1S00'0  01S00 0v00'0  6/00'0 OISO0 O€I0'0 06T0°0

0¥90°'0 07000 15000 01S00 65000 18000 OISO0 OTO0OD 91000
oulz asaueduey ul  Jsaddopssig  saddoy oy ssig uolj peaq ssig peai
wdd wdd wdd wdd wdd wdd wdd wdd wdd
080¢€0¢€3 1031ds apisul ‘€T/T/€ d/eq



€ "ON INJWHOVLLY

OTTO'0 02000

08T0°0 0¢000

0LE£0°0 07000
ulz asaue3uelp
wdd wdd

0T000 0T00'0 0TSO0 O0ISO0 O0T000 91000
0900°0 06T0°0 0TSO0 OTSO0 OT000 S200°0
85000 ¢/00'0 0TSO0 0TSO0 ¥TI00°0 6200°0
ull  Jaddopyssig  saddopy uou ssig uoJj pea ssig pea
wdd wdd wdd wdd wdd wdd wdd

S9V0€3 jo3ids apisul ‘€T /2T /v :91e@



¢ "'ON LNJWHOVLLY

0¥c0’0  ¥v00°0 TS000 01000 ST000 850°0 0€0 0T000 92000 AU TUWE ‘ETH €T
0T¢0’'0  2v00'0 TS000 #1000 TZ000 1500 62°0 TT000 00100 RuTeH 71
0¢e00 T€000 TS000 22000 #2000 1S00 vZ0 S€00°0 0T€00 BT TI# 1T
09000 02000 TS00°0 ¥100°0 92000 1S0°0 0z'0 59000 00s0°0 LumrTots 01
08Z0'0  0CO00 TS00°0 81000 €000 1S00 vT°0 8800°0 08S0°0 42U T ‘60# 6
0TZ0'0  0Z000 TS00°0 L1000 ZE000 1S00 [N 0600°0 08S0°0 JRUT T ‘80# 8
0OPEO'0 02000 TS00°0 62000 7900°0 1500 TT°0 £800°0 01s0'0 211 T ‘L0# L
Ov10°'0  0T000 15000 29000 Or100 1500 IT0 €000 09€0°0 197 T ‘90# 9
0STO'0  0To00 TS00°0 0€T00 06200 1500 0T0 SS000 0S¢0°0 4217 T ‘SO# S
09100 02000 TS00°0 0Zeo'0 09%0°0 1500 TT°0 €000 ¢600°0 197 T ‘vO# ¥
0SE0’0 02000 15000 0520°0 05500 1500 IT0 12000 98000 19WT T ‘Co# €
0060°0 0ZOO0 TS000 06T0°0 0£S0°0 TS00 ¢T0 01000 S800°0 19U Z/T ‘To# Z
000g°€ G¢000 15000 09100 00Z€°0 1S00 91°0 000 08.0°0 1817 Z/1 ‘To# T

ouiz  asaueSuely ul] Jaddo) ssig Jaddo) uoJ ssig uoJ| peai ssig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

096/ €¥'6 = Hd wds QT = 3181 MO|4

808T0¢3 192ney apisul ‘sT/TT/T 91eQ

aAY Meys 0T ‘94 207



¢ 'ON LNIWHOVLLY

TS00°0 €€00°0 TS00°0 01000 1000 ¢L00 vao 0T00°0 S¢00°0 ABWT T UIW ¢ TTH IT
TS000 €000 TS00°0 LT000 2e00'0 LS00 LT0 87000 01200 P TOT#  OT
08T00 €000 TS00°0 02000 S200'0 8900 620 9900°0 09200 1917 T 604 6
0ST00 SE000 TS000 LT000 SZ00°0 TS00 620 6%00°0 0920°0 4317 T 80# 8
00200 €000 TS00°0 €200°0 9€000 7800 0g0 0£00°0 ovz0o'0 317 T LO# L
0ve00 SE000 TS00°0 52000 85000 9500 0€0 £200°0 0E€TO'0 431 T 904# 9
TS00°0 €€00°0 TS00°0 ££00°0 01100 TS00 0e0 0OT00 0 617000 4917 T SO# )
00200 LE00°0 TS00°0 99000 0STO0 vL0°0 T€0 92000 9%00°0 1917 T v0# 14
09200 €000 1S00°0 L0070 0¢eoo 8500 cE'0 TT000 6S00°0 191 T €0# €
0¢eo0 52000 TS00°0 09¢20°0 01900 2900 ce0 Te000 00TO0 1911 T Z2o# [4
0Lv0'0 S900°0 ST00 0TE0°0 oovTo 840°0 o't ¥200°0 oorvt'o L2 /T 1o# T

Juliz asaueduen ui] Jaddo) ssiqg Jaddo) uoJj ssiq uoJ| peai ssiq peoq

wdd wdd wdd wdd wdd wdd wdd wdd wdd

v,.6/556=Hd wd3 GT'T = a1e4 MO|4

954T0¢€3 1031ds apisino ‘€T /ze/T :91eQ
15000  Tt00°0 TS00°0 0T000 €1000 1500 SZ0 0T000 #2000 JRUTTUIWE ZT#  TT
TS00°0 0€000 TS00°0 v100°0 S200°0 £S0°0 120 04000 ovzo0 JOWT T TT# 0ot
0ve0'0 0c000 15000 6T00°0 8¢000 1S0°0 10 00¢0'0 0LS0°0 BN T Ot 6
00200 0co00 TS000 02000 TE000 1500 (AN 06T0°0 009070 12U T ‘60# 8
15000 02000 1S00°0 ¢c000 9€000 1500 (AN ovrTO0 0SS00 1311 T ‘80# L
TS00°0 02000 TS000 9¢000 T/00°0 TS00 1T0 ££00°0 0sv00 BT 108 9
0T<0°'0 07000 TS000 00100 0gco0 1S0°0 [AN0] Y1000 0ZT0°0 J9M7 T ‘90# S
1S00°0  0¢000 15000 06200 0L¥0°0 1S0°0 €T0 L2000 23000 49U T ‘SO# v
TS00°'0 02000 1S00°0 05200 0E¥00 TS00 €T’ 62000 ¢L00°0 Jau T ‘vo# €
1S00°0 12000 1S00°0 0SE0°0 08S0°0 ¢90°0 8T°0 Ze000 000 12317 T “€0# 4
89000 €€00°0 15000 00€0°0 000T°0 1S0°0 9¢°0 1000 8L00°0 4911 Z/T ‘To# T

Julz  9saueduep url Jaddo) ssiqg Jaddo)p uouJj ssiqg uoJ| peai ssiq peai

wdd wdd wdd wdd wdd wdd wdd wdd wdd

8.6/196=Hd wd3 0g'T = 2181 MO|4

8/210¢€3 yosids apisino g1 /T /T :91eQ



€ "'ON INJIWHOV1LY

S800°0 9t700'0 1s00°0 01000 €100°0 9500 6C0 0T000 S¢000 WP TUWE TT#H T
00TO'0 92000 TS00°0 STO00 82000 1S0°0 8T0 0¢T00 06S0°0 IBITTOT# O
06000 0ZOOO TS00°0 6T00°0 €€000 1500 €10 09T0°0 0980°0 19171 T 60# 6
S6000 02000 TS00°0 02000 €E00°0 1500 €10 08T0°0 0S80°0 19117 T 80# 3
0STO00 0c000 15000 12000 6¥00°0 TS0°0 FA 0] 0STO0 0LL0°0 A9WT T LO# L
0ZT00  TTO00 15000 95000 0STO'0 TS00 STO 00100 01500 1947 T 90# 9
0€T00 07000 15000 09100 0zZv0'0 TS00 910 6%00°0 02200 1917 T S0# S
09100  TC000 15000 04200 02900 €500 020 EY00°0 ovzZo'0 1317 T ¥0# 1%
OrTO0  ZT000 TS000 04£0°0 01900 990°0 vZo L¥00°0 0LT00 19U T €0# €
0920°0 €v00°0 TS00°0 00€0°0 000T°0 ¥90°0 SS°0 #00°0 0sv0'0 1817 T ZO# [4
09Z0°0 T800°0 S00°0 0TTO0 QobT 0 TS0'0 09'T 01000 02900 19171 Z/1T T0# T

JuIz asauesduepn uil Jaddop ssig Jaddo) uod| ssig (Se3] peat ssiq peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

G8'6 /796 =Hd wd3 Gg'T = a1e4 moy4

€L1TOET 1031ds apisino ‘€1/62/T :93eq
TS00°0 0€00°0 TS00°0 TT00°0 €T100°0 1S00 70 01000 9¢000 PBUTTUIW ¢ TTH T
TS00°0 0Z000 TS00°0 TEOO0 670070 1S0°0 910 0920°0 o200 121 TOTH 0T
TS000 02000 T1S00°0 61000 €€00°0 TS00 10 orT00 ov60°0 1911 T 60# 6
TSO00 02000 TS000 ST00°0 SE000 1500 Y10 01200 0060°0 1211 T 80# 8
TS000 02000 15000 T¥00°0 09000 TS00 ¥T0 09100 0T80°0 1BUT T L0# L
TS000  0¢000 TS00°0 S600°0 09100 TG00 Y10 08000 0Zv00 JoMT T 90# 9
€S500°0 0C000 15000 0SZ0°0 0000 8500 STO0 19000 0vT00 1917 T SO# S
16000 02000 15000 09€0°0 09500 vL0°0 LTO 95000 0TTO0 9217 T 0# 14
0¢100  ZZo00 15000 06Z0°0 04500 €900 8T0 6€00°0 O0TTO00 1217 T CO# €
0s200 St700°0 TS00°0 0TE00 0TL0°0 980°0 Ly0 TE000 09100 191 T CO# [4
08900 02700 S00°0 £800°0 006T°0 TS00 0z’e 0T000 0060°0 4211 2/T TO# T

Julz  asaueduey ull Jaddo) ssig Jaddo) uoJj ssiqg uoJj pea ssig pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

98'6 /896 = Hd wds ZT'T = 2184 MO|4

I6DT0g3 jo81ds apisino g1 /vz/T @21eq



¢ "'ON IN3WHOV 11V

S800°0 TE000 15000 T00°0 2000 9500 vco T000 €000 J3)T T UlW € ‘E0# €
T600°0 7000 TS000 S200°0 9000 TS00 1600 T0°0 6£0°0 J2UT T ‘20# Z
¢900°0  TE00°0 S000 2€0°0 €T°0 LS00 L0 8¢00°0 STO0 1911 Z/T ‘TO# T
Juiz  assueduep ull 4addojssiqg Jaddo) uod| ssig uoJ| peai ssiq peai
wdd wdd wdd wdd wdd wdd wdd wdd wdd
92T/ ¥'ST = dway 8.'6/.96=Hd wds 80T = 93ed moy4
80070€3 1081ds apisino €T /61 /T :91eQ
L8000  €€000 TS000 Z1000 £€100°0 0TSO0 00£7°0 01000 12000 J2)1 T UIW € ‘E0# €
0¢100  0¢000 TS00°0 0£00°0 €5000 0TSO0 002¢1'0 O0TTO0'0 09S0°0 1917 T ‘Z0# [4
0STO'0  9500°0 0S00°0 0Z2o'0 00210 0TSO0 000S'T CTI00°0 08T0°0 1817 /1 ‘TO# T
Julz  asaueduely ul] Jaddo) ssiq Jaddo) uoJ| ssig uoJ| peal ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
9'21 /55T =dwa 2.6/096=Hd wd3 GT'T = 91eJ MO
66620€3 1031ds apisino '€1/S1/T :91eQ
1600°0 6€00°0 TS00°0 T00°0 ST00°0 €90°0 €T0 1000 €¢000 JOUT T Ulw € ‘E0# £
100 000 TS00°0 62000 €000 TS0°0 ITO €EV000 Sr0°0 I8 T ‘20 [4
TS00°0 <000 1S00°0 LTO°0 6S0°0 1s0°0 (4N} T000 6800°0 1217 Z/1 ‘To# T
dulz  asaueduey ul] Jaddo) ssiqg Jaddo) uoJ| ssiqg uoJ| pea ssig peai
wdd wdd wdd wdd wdd wdd wdd wdd wdd
0/'6 /096 =Hd wd8 42T = 9164 mo|4

56¢0¢€3 190ney apisul €T /1 /T :91eq



€ 'ON LN3WHOVY 11V

00T00 €€00°0 TS00°0 01000 STO000 01s0°0 00€2°0 01000 €¢000
0CT0°0 0¢000 TS000 €000 ¢e00°0 0TSO0 03/0'0 06T0°0 08v0°0
99000 0c00°0 TS00°0 0£20°0 otr0°0 0TSO0 0¥80'0 0€000 99000
ouiz asaueduey uil Jaddo) ssig Jaddo) uoJ| ssig uoJ| peat ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
¥8T£0€3 192ney apisul ‘€T /y/€ 91
00TO'0  TZOOO TS00°0 0T000 Y1000 0TSO0 00vT'0 01000 27000
0TT0'0 0000 TS00°0 02000 0g000 0TSO0 01600 0TTO00 0veo0o
TS000 02000 15000 0ST0'0 08€0°0 01s0'0 0£60°0 9¢00°0 09100
ulz asauesuey ull Jaddojssig Jaddo) uoJ| ssig uoJj peal ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
8L0€0€3 190ney apisul (€T/8Z/T :91eq
26000 S200°0 TS000 STO00 €T000 08S0°0 00ST'0  6T00°0 61000
§600°0 0000 TS00°0 87000 ¥¥00°0 0TSO0 00ZT'0 2TzZo0'0 0¥20°0
0000 8zZ0O0°0 0S000 0LT0°0 00TT 0 0TS00 00040 01000 T800°0
Julz  assaueduepy ull Jaddo) ssig Jaddo) uoJ| ssig uoJ| pes7 ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
Tl /ST =dway 66'6/6.6=Hd wds £0°'T = 2184 MO|
TZ9Z0€3 1031ds apisino ‘€1/5z/ :91eq
00100 9€00°0 TS00°0 0T000 1000 08s0°0 002’0 01000 T¢000 Jo] T UIW € ‘E0# €
0TTO0'0 2000 TS00°0 1000 9¢00'0 0Ts00 009T'0 SE000 08200 BT T ‘20# T
15000 0c000 TS00°0 09¢0°0 0Lr0°0 0T1S00 0€60°'0 8000 00100 L/t IoH T
Uiz asaue3uely uil Jaddo) ssiqg laddo) uoJj ssig uoJ| peaT ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
0.6/096=Hd wds $7'T = 914 MO|4

19420¢€3 190ney apisul ‘g1 /ze/z -91eq



€ 'ON LNJWHOVLLY

0€T0'0 02000 TT000 ST000 0TSO0 0081°0 01000 €000
56000 02000 9T000 92000 01s00 00v¥1T'0 V€000 0L10°0
<9000 o0zZto 06S0°0 00820 00ST'0 000T'T 8€00°0 or10°0
Juiz  9saueduelp ull J4addoj ssig Jaddo) uoJj ssiq uou| peai ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
9TT/ €91 =dwa ST'0T/.6'6=Hd wds 99T = a1ea moy4 TW/IN ESPT = dLV
T06¥0€3 1031ds apisino ‘€T /0T /v :91eQ
00T0'0 02000 0T000 11000 01500 00020 0T000 SE00°0
00100 02000 ¢T000 0Z00'0 0TS0°0 00v¥T'0 St00°0 0LE0°0
TS00'0  0co00 ovTO’0 08¢0°0 01s00 00TT'0 01000 TL000
Julz  3sauedue ull Jaddo) ssiqg Jaddo) uoJj ssig uoyj| pea ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
66EV0ET 120ney apisul 'eT /v /v 91k
£600°'0 €€000 15000 0T00°0 <1000 01500 00¢¢’0 01000 0200°0
0TT00  S2000 15000 61000 8¢00°0 0TS0°0 009T°'0 6200°0 o100
0vc0'0 €v000 0S00°0 0810°0 00T 0 0TS0°0 000€'T 0T00'0 6,000
Julz  assauelduelp ul] Jaddo) ssig Jaddo) uoJj ssiq uol| peai ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€T/ 8 ¥ = dwa) 96’6 /€86 = Hd wd3 T¢'T = 9381 MOJ4 TW/IN LEY = dLV
09t€0€3 1031ds apisino €1 /9 /¢ :o1e(Q



¢ 'ON INJWHIVLLY

06T00

0¢00°0 TS00°0 0T000 01000 1S0°0 TS0°0 0T000 Z100°0 4917 T UlW € ‘80# 8
0LT00 0c00'0 TS00°0 #1000 STO0'0 TS0°0 TS0°0 £LE00°0 00100 JRUT T ‘LO# L
0¢eo0 0c00°0 TS00°0 6T00°0 0c000 TS00 1S0°0 0ST00 0€€0°0 4217 T ‘90# 9
06200 02000 1S00°0 0000 ¥#00°0 1S0°0 TS0°0 09100 08200 I9M7 T ‘S0# S
0Zv0°0 02000 TS00°0 0¢T00 00200 1S0°0 TS0°0 5000 96000 12U T ‘O# 14
0vE0™0 0co0'0 TS00°0 08100 00€0°0 TS00 T1S0°0 62000 15000 12U T ‘€0# €
TS00°0 0¢00°0 TS00°0 0220°0 0TE€0'0 1S0°0 TS0°0 0€00°0 €000 BT ‘To# 4
69000 0¢00°0 TS00°0 0020°0 0000 TS0°0 TS0°0 01000 0g€000 1917 7/T ‘TO# T

oulz asaueduep ull  J4addod ssig Jaddo) uoJ| ssiq uolJ| pea7 ssiqg peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

7.'6/656=Hd wds 6T = a3e4 MO|4

90dT0Ed 1031ds apisIno {€1/8T/T :91eQ
08T0°0 02000 1S00°0 12000 €T00°0 TS0°0 1S0°0 01000 €T00°0 JAUTTUIW € OT# 0T
08T0°0 0000 1S00°0 0c000 12000 TS0°0 8500 ¥900°0 0oco0 42U T ‘604 6
08100 ¥200°0 TS00°0 6T000 82000 TS0'0 0600 £600°0 0810°0 1917 T ‘B0# 8
00€0°0 €200°0 TS00°0 SE00°0 09000 TS0°0 7600 ¥100°0 0LE0°0 12U T L0# L
0L€0°0 £200°0 TS00°0 86000 06100 1S0°0 S60°0 6T00°0 84000 1217 T ‘90# 9
0¢zo0 L2000 TS000 0r100 00€00 1S0°0 0600 €T00°0 ¥500°0 4211 T ‘SO# S
0tco0 82000 TS00°0 09100 0TE00 1S0°0 ¢60°0 TT00°0 ¥#00°0 9N T ‘vO# 14
00z00 82000 TS00°0 0STO00 08200 1500 S60°0 01000 7000 1M T ‘eott €
S800°0 0€00°0 TS00°0 09T0°0 00t0°0 TS00 L60°0 01000 89000 4911 2/1T ‘To# C

U7 asaueduen ull  Jaddo) ssiq Jaddo) uoJ| ssiqg uodJj peai ssig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€€'6/676=Hd wds $7'T = 9184 MO|4

TYVvTOE3 190Nk} apisul :€T/ST/T :21eq

9AY |IIH [94neq €8T ‘L# 207



C "ON INIWHDV 1LV

15000

02000 TS000 TT000 0T000 TS00 1500 0T000 TT00°0 4917 T ulW € ‘80# 3
TS000 02000 TS000 0T000 ZT00°0 TS00 TS00 01000 8T00°0 JoUN T ‘L0# L
TS000 02000 TS000 ¢T000 #1000 TS0°0 TS00 €7000 00100 J9UT T ‘90# 9
15000 02000 15000 L1000 6T00°0 TS0°0 TS0°0 6£00°0 08200 1917 T ‘SO# S
02100 02000 TS000 LE000 0S00°0 TS0°0 1500 0910°0 0L£0°0 421N T ‘YO# 4
00200 0c000 TS00°0 0¢100 06TO°0 IS00 1S0°0 8800°0 06T00 J3UT T ‘E0# €
09100 02000 15000 0€T0'0 02€0°0 TS0°0 TS00 S200°0 LS00°0 JOUT T ‘20# 4
0zZv0°0 02000 TS00°0 0920°0 0SS0°0 TS00 SS0°0 €T000 89000 12U Z/T ‘TO# T

oulz  asaueduep ull  J4addo) ssig Jaddo) uoJj ssig uoJj pea7ssiq pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

L6'6/8L6=Hd wd3 7g'Z = 3384 Mmo|4

OOHTOE3 1031ds apisino ‘€T/5z/T 91eQ
TS000 02000 TS00°0 71000 0T00'0 TS0°0 TS00 07000 11000 48)7 T ulw € ‘80# 8
TS000 02000 TS00°0 ST000 91000 1500 TS0°0 01000 2000 U7 T LO# L
15000 02000 TS00°0 ¥T100°0 21000 TS00 TS00 ¥T000 95000 4311 T ‘904 9
TS00°0 02000 TS000 6T000 61000 1500 1500 6£00°0 0ST0°0 49U T ‘SO# S
TS00°0 02000 15000 €000 or00°0 1S0°0 TS00 0ET0°0 00¢0°0 1317 T ‘vO# 174
0ST0°0 02000 1S00°0 S800°0 01100 TS00 TS00 £900°0 0TT00 1217 T ‘co# €
01200 0¢000 TS00°0 08T0°0 0€C0°0 1S0°0 1S0°0 0€000 S00°0 BT T ‘CO# [4
09170°0 0¢000 1S00°0 08100 09€0°0 1S0°0 1800 €€00°0 0210’0 1311 /T ‘TO# T

uiz 9saueduely ull  Jaddo) ssig Jaddo) uoJ| ssig uoJ| pea ssiqg peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

0.'6/196=Hd wd3 95'T = 3381 MO|4

689T0€3 y031ds apisino €T /vz/T :91eq



€ 'ON LNJHOVLLY

¥600°0 2000 TS00°0 T000 T000 1500 TS00 T000 T000 4917 T Ul € ‘€0# €
910°0 2000 15000 ¢EN0'0 6£00°0 1500 1500 T00 LZ0°0 1311 T “20# [4
¢100 2000 TS000 SZ0°0 <00 TS0°0 TS00 TO00 €000 1217 Z/1 ‘TO# T

uiz asaueSuey ull  J1addo) ssig Jaddo) uoJj ssiq uoJ| peal ssiq peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

SIT /L €T =dway 096/ 5'6 = Hd wd3 9z'7 = 9161 Mo

€6920€3 1081ds apisino ‘€T /¢T/T :91eq
68000 2000 TS00°0 TT000 <1000 1500 TS00 T000 TT00°0 1917 T ww € ‘€04 €
8T0°0 000 TS00°0 TEOD0 €¥00°0 TS00 TS00 ¥10°0 €00 1937 T ‘Z0# [4
£00°0 2000 TS000 z0°0 €0°0 1500 1500 €r00°0 S600°0 1217 Z/1 ‘T0# T

o] 8]y asaue3ue|p uil Jaddo) ssiqg Jaddoy uoJ| ssiq uoJ| pea ssiqg pean

wdd wdd wdd wdd wdd wdd wdd wdd wdd

156/ €v'6 =Hd wds zz'1 = 9181 mo|4

965¢0¢€1d 190ney apisul ‘€T /TT/T 91k
66000 0Z00'0 15000 01000 01000 TS0°0 TS0°0 01000 0T000 49110 T ulw € ‘80# 8
01100 0z00'0 15000 ¥T00°0 €T000 1S0°0 TS00 €T00°0 LS00°0 211 T ‘L0# L
0TT00 0Z000 TS000 T€00°0 02000 1500 TS00 0ET00 0EE0°D 4217 T ‘90# 9
06T0°0 02000 TS00°0 9¢00°0 SE000 TS00 1500 0€T0'0 00£0°0 4911 T ‘So# S
0sv0°0 02000 TS00°0 02100 00zZ0'0 1500 TS00 0€00°0 0£00°0 1211 T ‘Yo# ¥
ov10°0 0z00'0 15000 08100 0Ce00 1500 TS00 L1000 €000 1817 T ‘co# €
OrT0'0 02000 TS00°0 00200 08€0°0 TS00 1S00 ST000 SE00°0 PUT T ‘2o# [4
26000 02000 TS000 0Zz00 0L€0°0 TG00 TS00 01000 TE000 1917 2/T ‘TO# T

1z asauesuely uil  J1addojssig Jaddo) uodj ssiq uoJ| peai ssig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

89'6 /856 = Hd wd3 g¢'z = 2181 MmOy

961T0E3 1031ds apisino {g1/0g/T :918Q



€ "'ON LNJHOVLLY

€600°0 0co00 TS000 0T000 0T00'0 0TSO0 0TSO0 01000 0T000 €
66000 0co00 TS00°0 92000 SE00°0 0TS00 0TSO0 0TIT0'0 0920°0 [4
00200 02000 TS00°0 00200 09€0°0 0TS00 0TSO0 01000 9Z00°0 T
oulz asaueduep uil  J1addo) ssig Jaddo) uouJ| ssig uoJ| pealssia peai
wdd wdd wdd wdd wdd wdd wdd wdd widd
9°L/S 1T =dws) 06'6 /186 =Hd wdg 97°7 = 9121 MO|4
SOHZO0€3 1031ds apisIno ‘€T /92 /¢ :a1eQ
00100 22000 TS000 orsoo 01000 TT00°0 0Ts00 01000 01000 €
0S20°0 0z00°0 TS00°0 01s00 0800°0 £600°0 0Ts00 £600°0 0910°0 [4
€900°0 0c000 TS00°0 01S0°0 ov€0°0 0cr0’0 0TS00 8T00°0 ¢e00'0 T
oulz asauedueln ull  1addojssiq laddo) uol| ssig uol| peai ssig peoq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
079203 19oney apisul {€1/S2/2 :91eq
OTTO0 22000 TS00°0 0T000 01000 0TSO0 0Ts00 01000 0T000 4917 T UlW € ‘€0# €
06T0°0 02000 TS00°0 8T000 ¥Z00°0 0TSO0 01S0°0 8600°0 0€20°0 4211 T ‘20# [4
0TT00 0Z000 TS000 06T00 0S€0°0 0TSO0 0T1S00 0T000 000 1211 Z/1 ‘T0# T
ulz asaueduen ull  Jaddoj ssig Jladdo) uoJ| ss1g uoJ| pea ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
06/81T=dwa 18'6/69'6 = Hd wd3 97°Z = 2184 Mo|4
¢haeoes 1031ds apisino '€1/0z/¢ :91eQ
€600°0 0Z00°0 TS00°0 0T000 ZT00°0 0Ts00 0Ts00 01000 01000 19} T ulw € ‘€0# €
0Z20°0 02000 TS000 6€00°0 L¥00°0 0Ts00 01S00 0€ET0'0 02€0'0 42U T ‘208 r
€500°0 02000 TS00°0 09200 08€0°0 01s00 0Ts00 0c00°0 9£00°0 1911 2Z/1 ‘TO# T
1z asauedue ull  aaddo)ssiq Jaddo) uoJ| ssig uoJ| peai ssiq peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd

€LV C0ET }9oney apisul (eT/8T/T e



¢ 'ON INJWHOVLLY

£600°0 0co00 01000 01000 01s00 0TSO0 0TO00 €T00°0
0¢T00 02000 ST000 ST000 0TSO0 01S00 S00°0 TL00°0
09t0°0 0Z000 Zv00°0 ¥S00°0 0TSO0 0TS0'0 71000 €000
ouiz asaueduen ull  Juaddojssig laddo) uoJ| ssig uoJ| pea ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
0CT/TET =dway ¢T'0T /2Z0T=Hd wds Q1" = 2184 MO[4 TW/3N S = 20T
T¥90€3 1031ds apisino ‘€1/8/p :91eQ
0CT00 02000 01000 01000 01s00 0TS00 01000 €T00°0
0L10°0 0z000 ¢Z000 87000 01s00 0TS00 0€10°0 0T20°0
09000 0Z000 0€T0°0 0910°0 0TSO0 0TSO0 €200°0 S8000
auiz asaueduely uil  aaddo) ssig laddo) uod| ssig uoJ| pea ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€9110€3 }o0oney apisul 'eT/T /v @30
960070 02000 TS000 01000 01000 01s00 01500 0T000 01000
04100 02000 15000 87000 55000 01500 0TS00 0TT0'0 0810°0
06T0°0 02000 15000 00€0°0 01500 01s00 01S00 91000 9€000
Julz  asaueduepy ull  Jaddo) ssig Jaddo) uodJj ssig uoJ| pea ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
L8/ €0T = dwa) €0°0T /96'6 = Hd wd3 5°Z = 9181 MO|4 TW/IN SLY = d1Y
T67€0¢€7 1031ds apisino €T /5 /€ :a1eQ
66000 0zZ000 TS000 0T000 Z100°0 0TS00 0TSO0 01000 TTO00
08T0°0 0¢000 TS00°0 €000 87000 0Ts00 0TS00 6800°0 00200
9/000 0Z000 15000 06T0°0 0Ce0°0 0TS0°0 0TSO0 81000 0v00°0
oulz asauedue|p ull  Jaddopssig Jaddo) uoJ| ssig uoJ| pea ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd

98T£0£3 190ney apisul ‘€T /y/€ :91eq



¢ 'ON LNJWHOV L1V

TS000 <e000 TS00°0 01000 01000 TS00 7900 0T000 91000 U TUIWE /08 L
06100 L2000 1S00°0 0To00 9T00°0 1S0°0 040°0 91000 £€600'0 JPUIT90# 9
0Tco0 02000 TS00°0 LT000 £€2¢00°0 TS0°0 TS0°0 OTTO0 01€00 JRINTS0# S
06100 02000 TS00°0 91000 02000 TS0°0 1s00 Q€200 091v0°0 WPITT YO8 ¥
04200 0¢000 TS00°0 2000 8€00°0 TS0°0 1s0°0 0LT0°0 06€0°0 RPITT‘eo €
06€0°0 0¢000 15000 ¥L00°0 02100 TS0°0 1s0°0 9¢00°0 66000 Lmne/teon ¢
008L°0 €v00°0 250070 06€0°0 00ST0 1500 0SsT0 65000 0Er0°0 RUTZ/TTOR T

ulz asaue3duelp ull  Jaddo) ssiq Jaddo) uoJj ssig uodj pesa ssia peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€46/796=Hd wds /T = 9184 MO|4

L08TOET jo3ids apisino (€T /TT/T :91eQ
08s0°0 82000 TS000 6T00°0 0sv0'0 TS0°0 €800 0T000 28000 SBUTUIWE'BOR 6
65000 £5S00°0 TS00°0 TT000 0c¢00'0 TS0°0 0410 0€00°0 09Z0°0 12U T 80# 8
TS00°0 0s00°0 TS00°0 6¢00°0 8¢00°0 TS0°0 0ST0 €L00°0 08+0°0 PUTLO# L
SS00°0 S¥00°0 1S00°0 01000 STO00 TS0°0 (01 A0 LL00'0 0090°'0 JPUTT90# 9
0STO0 T¥00°0 TS00°0 S200°0 T#00°0 1500 0zZT'0 09000 0T€00 JPUTTS0# S
09900 8500°0 TS000 L¥00°0 86000 TS0°0 0ST0 ¥100°0 00100 PINT VO# v
ooot'o 0s00°0 TS00°0 €900°0 0E€T00 1S0°0 ovT 0 1000 98000 PMTT ‘C0# €
0TL0°0 95000 TS00°0 S¥00°0 S600°0 1S0°0 0910 01000 €L00°0 P112/1 ‘o8 ¢
0E€LO0 6800°0 TS00°0 0rT0°0 0840°0 TS0'0 0E£Z°0 TT000 0TT00 Lineg/t'tog 1

Iz asauedue|p ulp  Jaddop ssig Jaddo) uodJj ssig uol| peassig peaq

wdd wdd wdd wdd wdd wdd wdd wdd wdd

€5'6/¢€6=Hd wds 6p'T = 9184 MO|4

889T0¢€3 190ney apisul ‘eT/0T/T :91eQ@

IAY weysuupues 0/ ‘gi 207



< 'ON LNJWHOVLLY

00200 07000 TS000 01000 010070 TS00 1500 0T000 €T000 JRUITUWE ‘90 9
0TZ00 02000 TS00°0 TT000 ¢T00°0 TS00 1S0°0 6¢00°0 £900°0 PTG S
TS00°0 02000 TS00°0 Y1000 8T00°0 TS00 1500 00100 09¢0°0 BT YO# ¥
TS00'0 0z00°0 TS000 ST000 61000 TS00 1500 0€20°0 00r0°0 1P T'E0# €
08Z0°0 02000 TS000 ¥200°0 9€00°0 TS00 1500 0020°0 0€€0°0 PUIT o8 T
00t0°0 02000 15000 9900°0 ovT0°0 1500 1500 87000 88000 Lmg/tTor 1

oulz asauesueln ull  Jaddo)ssig Jaddo) uoJj ssig uoJ| pea ssig peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

78'6 /096 = Hd wd3 g9g'T = 91e4 Mo|4

804TOES 1031ds apisino €T/8T/T :91eq
09100 02000 1S00°0 01000 01000 TS00 1S0°0 01000 €T00°0 RUTTUIW E /08 9
04100 0¢000 TS000 £€100°0 TT000 1500 1500 25000 00100 JPIT90# S
15000 02000 TS000 ST000 LT000 1500 TS00 0STO0 00€0°0 PUTS0# ¥
TS00°0 02000 15000 €T00°0 #1000 1S0°0 1S0°0 0szo0 0Zv0°0 U T YO# €
0620’0 0coo0 TS00°0 6€00°0 070070 TS0°0 TS00 ov10°0 0LZ0°0 1PINTE0# T
0Lv0°0 LEOO'0 T1S000 SL00°0 02100 TS00 €90°0 ¢1000 68000 RLINz/T o8 T

oulz 9sauesuelp ull  Jaddojssig Jaddo) uoJ| ssiq uoJ| peai ssiqg pean

wdd wdd wdd wdd wdd wdd wdd wdd wdd

08'6/€9'6=Hd wd3 69'T = a1es mo|4

r£OT10€3 1081ds apisino {€1//1/T :31eQ
0STO0 02000 TS00°0 0T000 0T000 TS00 1500 010070 €100°0 LI Tuwe /o8 L
0LT0°0 0Z000 TS000 01000 ¢100°0 TS00 1500 T¥00°0 02100 L1904 9
08T00 02000 TS000 91000 0Z00°0 1500 1500 0€T0°0 00€0°0 LT so# S
09¢0°0 02000 TS000 ZT100°0 10070 1500 1500 0vZo'0 0Zv0'0 RITT VO ¥
01200 02000 TS000 €E00°0 9€00°0 1500 1500 0€10°0 0L20°0 PUTT‘CO# €
0SS0°0 12000 15000 6£00°0 02100 1500 9500 91000 £800°0 B z/T ‘o T
08€0°0 92000 TS000 0¢v0°0 0990°0 1800 950°0 TL000 or10°0 REEAT o R 0 S

ul7 asaueduelp ull  J1addo) ssig laddo) uoJ| ssiIq uoJ| pea7 ssig pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

09'6 /81’6 =Hd wds 5T = 23es moy4

8vVTOE 1031ds apisino ‘€T /ST /T :91eQ



€ 'ON LNINHOVLLY

01100 6200°0

TS00°0 01000 01000 0TSO0 0¢s00 01000 01000 BT UM EvO# 1
0TT00 87000 15000 01000 01000 0TSO0 0SS0°0 01000 1000 LI TUWE ‘€0 €
01200 02000 15000 Zc000 9900°0 01S0°0 02500 L800°0 0T€0°0 LITT 08 T
0€S0°0 02000 TS00°0 2S00°0 8800°0 01s0°0 0950°0 01000 7000 lLuz/rior 1

oulz asaueduey ull  Jaddoj ssig Jaddo) uouJ| ssig uodJ| pea ssig peaq

wdd wdd wdd wdd wdd wdd wdd wdd wdd

6T3Z0€3 1031ds apisul ‘€1/12/T :91RQ
6000 000 TS00°0 T00°0 T00°0 1500 TS0°0 T000 11000 LI TuwWE vo# b
¥800°0 000 TS00°0 T00°0 1000 TS0°0 TS0°0 T000 11000 LI TUWE ‘eof €
v10°0 <000 TS00°0 ST00°0 <000 1500 TS00 6T0°0 €r0°0 JRUITT0# T
vZo 2000 TS000 Zc00 ST0°0 TS00 LL0°0 €000 ¥€0°0 LPIe/T 08 1

ulz asaue3duelp ulp  saddojssig Jaddo) uoJj ssig uou| peaissiq peal

wdd wdd wdd wdd wdd wdd wdd wdd wdd

L8 /€01 =dway 8/°6/69'6=Hd wds yz'z = 91e4 mo|4

9t870¢3 3031ds apisIno 'eT/€T/T :918Q
¢T00 000 TS00°0 T000 TO00 1500 TS00 TO00 T1000 RPUTTUIWE VO ¥
TT0°0 ¢00°0 TS00°0 T00°0 €200°0 1500 1500 T00°0 €T00°0 JOWTT UIW € ‘CoR €
9100 000 TS00°0 8¢00°0 ¢5s00°0 1S0°0 1S0°0 9100 LP0°0 JBNTT ‘T0# €
SL0'0 000 15000 6500°0 T0°0 1500 950°0 ST00°0 /000 LIz/TT08 T

iz asaueSuey ull  1addo? ssiqg Jaddo) uoJj ssig uol| pea7 ssig pea

wdd wdd wdd wdd wdd wdd wdd wdd wdd

9t78Z0€3 1031ds apisul ‘€T/ZT /T :91eQ



€ "ON LNJWHDVY L1V

98000 0coo00 TS000 0T000 0T000 0TSO0 0TSO0 01000 T1000 ¥
€600°0 02000 15000 0T000 0T000 01s00 0TSO0 01000 ¢T00°0 €
00100 02000 15000 TT000 Y1000 0TSO0 0TSO0 0ST0'0 0S€0°0 [4
ov0°0 02000 TS00°0 8900°0 0TT0'0 01500 0TSO0 Y1000 59000 T
ulz asaueduely ull  Jaddo) ssiq laddo) uoJ| ssig uoJ| pea ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
v'6/7°ST =dwa G86/T.6=Hd wd3 $0'T = 124 MO[4 TW/IN 96 = d1V
LL0€0E] Jo31ds apisino {g1/g2/¢ :91eQ
660070 0¢000 TS00°0 01000 0tT000 01s00 0TSO0 01000 01000 74
o¥T00 02000 TS000 0T000 0T000 0TSO0 0100 01000 TT000 €
0rTO0 02000 TS00°0 1000 ¢2¢000 0TSO0 01S00 0STO00 0Z€0°0 [4
0080°0 02000 TS00°0 £LS00°0 00100 0TSO0 0TSO0 91000 8700°0 T
ouiz asaueSuely uil  Jaddo) ssig Jaddo) uoJ| ssiq uoJ| pea7 ssig pea
wdd wdd wdd wdd wdd wdd wdd widd wdd
8S120€3 3031ds apisul ‘€T/£z/T 93eQ
00100 02000 TS00°0 0T000 0T00°0 0TSO0 0TSO0 01000 01000 JBUTTUIW E ‘bO#t P
0TT00 02000 TS00°0 01000 0T00'0 0TSO0 0TSO0 01000 0T000 RBINTUWE ‘o ¢
01100 02000 TS00°0 €ET00°0 Y1000 0TSO0 0TSs0'0 0ET0'0 o000 P TCoO# T
0880°0 0¢000 TS000 9900°0 02200 0TS00 00600 01000 or100 BUIZ/TTOH T
uiz asauesuep ull  J1addo) ssig Jaddo)y uoJj ssig uoJ| peaT ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€L/ 1'6=dway 98'6 /6.6 =Hd wd3 9z = a1e4 moj4
¢zIzogl 1031ds apisino €T /0z/z :91eQ



€ "ON LNJNHDOVYLLY

0TT00 02000 01000 ST00°0 01s00 0sS0°0 0T00'0 Y1000 €
0¢e00 02000 72000 8200°0 0TS00 0TS00 06T0°0 0920°0 4
08€0°0 0¢00°0 0S00°0 T900°0 01Ss00 0TSO0 Z¢T00°0 91000 T
aulz asaueduey ull  J4addoj ssig Jaddo) uoJ| ssiq uodj peaissia peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
99v{0€3 jo3ids apisul ‘€T /ZT /v 918Q
0L000 02000 0T000 01000 01500 0TSO0 0T00°0 LT000 €
¥800°0 02000 TT000 Z100°0 0TSO0 0TSO0 02200 0¥€0°0 [4
0Zs0°0 02000 8500°0 €800°0 01500 0TSO0 92000 0LT00 T
ulz7 asauedueln ull  J4addojssiq Jaddo) uol| ssig uol| pea7 ssig peaq
wdd wdd wdd wdd wdd wdd wdd wdd wdd
T'¥T /98T = dwsay ¥S'6/Sv'6=Hd wd3 1/°T = 9384 MO[4 TW/IN TTEY = dLY
SZVr0E3 1081ds apisino ‘€T /6/v :918Q
00100 02000 15000 0T000 01000 0TSO0 01S00 0T00°0 TT000 1%
96000 0co0°0 TS00°0 0T00°0 01000 0TSO0 01500 0T000 ¢100°0 €
OrTO0 0Z00°0 TS00°0 6T00°0 8E00°0 0Ts0'0 0TS00 orT0'0 0€20'0 4
02s0°0 02000 TS00°0 95000 €L00°0 01s00 0TSO0 01000 62000 T
quiz asaueSuelp uil  Jaddo) ssig Jaddo) uoJ| ssiq uol| peal ssig pea
wdd wdd wdd wdd wdd wdd wdd wdd wdd
8S€0€ 1031ds apisul ‘€T /9/€ :91eQ
06000 02000 TS00°0 01000 0T00'0 0TSO0 0TSO0 0T00'0 0T00°0 14
£800°0 07000 TS00°0 0T00'0 01000 01500 0TSO0 0T000 TT000 €
006T°0 0c¢oo0 TS00°0 ¢T00°0 LT00°0 0TSO0 0TS0’0 0810°0 06€0°0 [4
04600 02000 TS000 0TT0°0 0TZ0°0 0Ts00 08s0°0 €2000 66000 T
u7 asaueduey ull  Jaddoj ssig Jaddo) uaJ| ssig uoJ| pea ssig peal
wdd wdd wdd wdd wdd wdd wdd wdd wdd
€6/l =dwa Z0'0T /S8°6=Hd wds /8T = @184 MO|4 TW/IN PTT = d1V

9sE0€ET 1031ds apisino ‘g /5 /¢ :@1eq



